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#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

ﬂ(ﬂé My MP:| 152.5 My MP %: 56.07% Rank: 9/34
[{ﬁﬁ% N1W9ILSAOT3B1 FMP: 19
— - — E——
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (NS) 5HXW-2 300 155 2
v AKQ953 5HN6 480 6DS7 940 13.0 1 v AJ3 4HXW-1 100 4HXW-1 100 14.0 1
* K MP: 7.5 6DS6 920 12.0 1 * 96 MP: 14 5HW-1 50 11.0 1
& AQT 3NN6 490 11.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd0 (NS) 3HXW-2 500 16.0 1
w» A952 6CW-2 100 6DE-1 50 15.0 1 v 972 5CN6 420 3NS6 490 140 2
¢ AT3 MP: 16 5DE5 -400 14.0 1 * Q7 MP: 11 3NN6 490 14.0 1
% T543 5SW5 -450 125 1 « AKQT94 5CN6 420 11.0 3
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 3NW5 460 5.5 1 lv AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #itlle 83 ¢ T952 3CN6 170 7.0 1
* % A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
N ~ Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S 84 S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 & JT6 Rd 0 (NS) 3CN4 1307 16.0 1 |g# 10 46 Rd 0 (EW) 135 6
v J3 3CN4 130 3CN3 110 120 7 v AKQJ8763 4SW6 680 10.0 1
KQ MP: 16 3NS-1 50 6.0 2 + 963 MP: 6 6.0 1
& AK9852 3CN-1 50 60 3 % 3 60 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
P ¢ VAN 4Q8 o OVBN ,T95 00 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3HN-4 -400 15.0 1 v JT 3NS3 -400 4HXE-2 -300 15.0 1
. MP: 2 14.0 1 + K8432 MP: 12 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 120 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 @W ~~~~~
i
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 & A9 Rd0 (EW) 4HW4 420 145 4
» KQ95 3NN4 630 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
+95 MP: 10 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 -50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3CS4 130 3NS4 430 105 3 v AQ432 4HN-1_ 100 4HXN-1 200 15.5 1
¢ T7 MP: 2 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 Qv JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 @eT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 & KQT97 Rd0 (EW) 3NS-1 50 1
4SW4 -620 6HW-1 100 12.0 1 v KQJ3 4HN-1 50 4HN-1 50 1
MP: 7 5SW-1 100 120 1 + Q86 MP: 15.5 2NS3 -150 1
4HW-1 100 120 1 & T 2SN5 -200 1
4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 4
v AK5 4sW4 <620 7.0 4 Qv A8762 v9 4SN4 -420 1
¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 -430 1
% Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 6
3NE5 -660 2.0 1 ¢VAN , 3NXS5 -750 1
Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9

E ~~~~~ & A7542

FIH LB H



. Rd 0 (E 4HES5 450 145 4
v K42 3NW4 430 3NE4 430 115 1
¢ J732 MP: 11.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4SXE-3 -800 4SE-2 -200 15.0 2
¢ A982 MP: 0.5 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 -510 3.0 3
+ T653 + QJ4 4SXE-3 -800 0.5 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3HN-1 50 3HN-3 150 15.0 1
¢ J98 MP: 6 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
¢ ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F2H B H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

2 ﬁé?% My MP:| 128.5 My MP %: 47.24% Rank: 23/34
EEE NOW7L7A3T1B4
— - — E——
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 4HN6 -480 .0 1 v AJ3 5CN-1 -50 4HXW-1 100 14.0 1
* K MP: 8.5 4HNS -450 135 2 * 96 MP: 8 S5HW-1 50 11.0 1
& AQT 3NN5 -460  12.0 1 % J853 4HW-1 50 110 4
& JT6 # AK7532 4HN6 -480 8.5 4 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 5HN6 -480 8.5 2 M KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd 0 (NS) 3HXW-2 500 16.0 1
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3NS6 490 3NS6 490 140 2
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 14 3NN6 490 140 1
% T543 5SW5 -450 125 1 « AKQT94 5CN6 420 110 3
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2NN6 240 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 & JT6 Rd 0 (NS) 3CN4 130 16.0 1 [g# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 3CN-1 -50 3CN3 110 120 7 v AKQJ8763 6SW6 -1430 5CXW-1 200 15.0 1
KQ MP: 6 3NS-1 -50 6.0 2 + 963 MP: 2.5 5HXN-2 -500 14.0 1
& AK9852 3CN-1 50 6.0 3 % 3 5SW6 -680 10.0 1
& AK9742 43 3DS-2 100 25 1 e QJ873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 4SE6 -680 10.0 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 25 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3DS-1 -100 15.0 1 v JT 3NS3 -400 4HXE-2 -300 15.0 1
. MP: 8 14.0 1 + K8432 MP: 12 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 120 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W& 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 & A9 Rd 0 (EW) 4HW4 420 145 4
» KQ95 3NN4 630 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
+95 MP: 10 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 -50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 1CXE-2 500 3NS4 430 105 3 v AQ432 3DXE-4 -1100 4HXN-1 200 15.5 1
¢ T7 MP: 16 3NN4 430 105 7 * KJ 105 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ % J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 & KQT97 Rd 0 (EW) 3NS-1 50 155 1
5SW6 -680 6HW-1 100 12.0 1 v KQJ3 3NS3 -400 4HN-1 50 155 1
MP: 1 5SW-1 100 120 1 + Q86 MP: 10.5 2NS3 -150 14.0 1
4HW-1 100 120 1 & T 2SN5 -200 13.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 -620 7.0 4 @ A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 430 7.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 3.5 6
ROIVAN LA 3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ & A7542

FIE B H



. R EW 4HES5 450 145 4
v K42 3NW-2 -100 3NE4 430 115 1
¢ J732 MP: 0 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 -100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
RIVBN oK
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 2SW3 140 3HN-3 150 15.0 1
¢ J98 MP: 12.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FA4H LB H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

gﬁﬁ% My MP:| 122.5 My MP %: 45.04% Rank: 24/34
ﬁ]}j{lﬁ N-2W7L9A1T2B2
— - — E——
# 1 » Q84 Rd 0 (EW) 6HN-2 100 16.0 1 [g# 8 & QU85 Rd0 (NS) S5HXW-2 300 155 2
v AKQ953 5HN6 -480 6HN-1 50 15.0 1 v AJ3 4HW4 -420 4HXW-1 100 14.0 1
* K MP: 8.5 4HNS -450 135 2 * 96 MP: 2.5 S5HW-1 50 11.0 1
& AQT 3NN5 -460 12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 4HN6 -480 8.5 4 M 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 5HN6 -480 8.5 2 v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2  -300 4.0 1
N 565~5 »J8 Obp #: 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd0 (NS) 3HXW-2 500 16.0 1
w» A952 3NE5 460 460 105 1 v 972 3CN6 170 3NS6 490 140 2
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 7 3NN6 490 140 1
% T543 5SW5 450 35 1 « AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
* % A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
N ~ Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S S 45~~1 eAKJ64 5CN-1 50 2.0 1
E E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3NS-1 -50 3CN3 110 120 7 v AKQJ8763 6SW6 -1430 5CXW-1 200 1
KQ MP: 6 3NS-1 50 6.0 2 + 963 MP: 2.5 S5HXN-2 -500 1
& AK9852 3CN-1 50 6.0 3 % 3 5SW6 -680 1
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 -680 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 4SW6 -680 3
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6  -1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 3NW-3 300 16.0 1 g# 11 & QJ8 Rd0 (NS) 5HXW-3 500 16.0 1
v QT752 3DS3 110 2SW-2 200 15.0 1 v JT 5DS5 400 3NS5 460 120 3
. MP: 14 3DS3 110 140 1 + K8432 MP: 4 3NN5 460 120 4
& KQJ7 12.0 1 % AK3 3NS4 430 75 2
& AQT9 # 532 12.0 1 4 T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 4HXE-2 300 1.0 1
* % AT854 9.0 1 W+ 98 » JT762 4DS5 150 0.0 1
POV BN o7 8.0 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 » A9 Rd0 (EW) 4HW4 420 145 4
v KQ95 2HXW-3 500 15.0 1 v J7 3HW4 170 2HW4 170 115 1
* 95 MP: 0 10.0 9 + QT853 MP: 11.5 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 W e QJ65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NS4 430 3NS4 430 105 3 v AQ432 3CXE-2 -500 4HXN-1 200 15.5 1
¢ 17 MP: 10.5 3NN4 430 105 7 * KJ MP: 3 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 -140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 & KQT97 Rd0 (EW) 3NS-1 50 1
4SW4 -620 6HW-1 100 12.0 1 v KQJ3 3NS5 -460 4HN-1 50 1
MP: 7 5SW-1 100 120 1 + Q86 MP: 3.5 2NS3 -150 1
4HW-1 100 120 1 & T 2SN5 -200 1
4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 4
v AK5 4sW4 <620 7.0 4 Qv A8762 v9 4SN4 -420 1
¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 -430 1
% Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 6
3NE5 -660 2.0 1 ¢VAN , 3NXS5 -750 1
Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9

E ~~~~~ & A7542

ESH B H



. Rd 0 (E HES 0 .5
v K42 4HE5 450 3NE4 430 115 1
¢ J732 MP: 14.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 2SW2 110 3HN-3 150 15.0 1
¢ J98 MP: 9.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
¢ ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FOH IR EH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

4 ﬁ‘i‘[{ﬁ My MP:| 160.5 My MP %: 59.01% Rank: 4/34
Ej{lﬁ N4W10L6A1T3B1 FMP: 51
- — E——
Rd 0 (EW) 6HN-2 100 16.0 1 [g# 8 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 4HN5 -450 6HN-1 50 15.0 1 v AJ3 5HW-1 50 4HXW-1 100 14.0 1
MP: 13.5 4HNS -450 135 2 * 96 MP: 11 5HW-1 50 11.0 1
3NN5 -460 12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 4HN6 -480 8.5 4 W 976 & A432 5CN-1 -50 8.0 1
T42 v 76 5HN6 -480 8.5 2 v KQ975 v T8642 5CN-2 -100 7.0 1
9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 3HW3 -140 6.0 1
763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
565~5 wd Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
565~1 ¢AQIT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
~~~~~ E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
2 Rd 0 (EW) 3NE5 460 10.5 ##g# 9 & 19 Rd0 (NS) 3HXW-2 500 16.0 1
5SW5 450 3NW5 460 105 1 v 972 4CN4 130 3NS6 490 140 2
MP: 3.5 4SW5 450 35 1 * Q7 MP: 4.5 3NN6 490 140 1
5SW5 450 35 1 « AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
* % A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
N Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S S 45~~1 eAKJ64 5CN-1 50 2.0 1
E E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3CN3 -110 2SW2 110 150 1 v AKQJ8763  7HXN-5 -1400 5CXW-1 200 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: S5HXN-2 -500 1
& AK9852 3DS-2 100 135 1 % 3 5SW6 -680 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 4SW6 -680 3
¢ 42 + 8753 3CN3 <110 4.0 7 @e¢ QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 3NW-3 300 15.0 1 v JT 3NN5 460 3NS5 460 120 3
. MP: 16 14.0 1 + K8432 MP: 12 3NN5 460 120 4
& KQJ7 12.0 1 % AK3 3NS4 430 7.5 2
& AQT9 # 532 12.0 1 4 T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 4HXE-2 300 1.0 1
* % AT854 9.0 1 W+ 98 » JT762 4DS5 150 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 QW ~~~~~
28 !
#5 & KT95 Rd 0 (NS) 16.0 1 W# 12 & A9 Rd0 (NS) 3DXS3 670 16.0 1
» KQ95 3NN5 660 15.0 1 v J7 4HW-1 50 4HW-1 50 105 9
+95 MP: 15 10.0 9 + QT853 MP: 10.5 3HW-1 50 10.5 1
% Q73 30 5 % 9762 3HW4 170 45 1
& AQ6 # 432 0.0 1 e QG5 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NN-1 -50 3NS4 430 105 3 v AQ432 4HN-1_ 100 4HXN-1 200 15.5 1
¢ T7 MP: 0.5 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 QeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Obp #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (NS) 15.0 3 g# 14 & KQT97 Rd0 (EW) 3NS-1 50 1
6SW-2 200 12.0 1 v KQJ3 4SN4 -420 4HN-1 50 1
MP: 15 12.0 1 + Q86 MP: 8 2NS3 -150 1
12.0 1 & T 2SN5 -200 1
4 J83 10.0 1 Qo J2 & A865 3NS3 -400 4
v AK5 7.0 4 Qv A8762 v9 4SN4 -420 1
¢ AJ543 70 1 We J42 ¢ T753 3NS4 -430 1
% Q4 35 2 Was J86 » KQ93 3NS5 -460 6
20 1 ¢VAN , 3NXS5 -750 1
Obp #: 6! 10 1 @IN ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9

E ~~~~~ & A7542

FTH B H



. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 3SE-2 -200 4SE-2 -200 15.0 2
¢ A982 MP: 15 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 2SW2 110 3HN-3 150 15.0 1
¢ J98 MP: 9.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FRHE IR H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

%ﬁ%ﬁ My MP:| 104.5 My MP %: 38.42% Rank: 31/34
Bﬁj N-5W6L11A0T3B4
s—— - — E——
Rd 0 (EW) .0 1 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 6HN6 -980 .0 1 v AJ3 5CXN-2 -300 4HXW-1 100 14.0 1
* K MP: 1 5 2 + 96 MP: 4 S5HW-1 50 11.0 1
& AQT 20 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 85 4 & A432 5CN-1 -50 8.0 1
v T42 v 76 85 2 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 50 1 ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 40 1 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 3NE5 460 460 105 1 v 972 3NS-2 -100 3NS6 490 140 2
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 0.5 3NN6 490 140 1
& 1543 5SW5 450 35 1 « AKQT94 5CN6 420 110 3
& AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 -50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (EW) 3HE3 1407 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3HE3 140 2SW2 110 150 1 v AKQJ8763 6SW6 -1430 5CXW-1 200 1
KQ MP: 16 3CN-2 100 135 1 + 963 MP: 2.5 S5HXN-2 -500 1
& AK9852 3DS-2 100 135 1 %3 5SW6 -680 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 4SW6 -680 3
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6 1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 3NW-1 -100 3DXS-2 500 15.0 1 v JT 4HXE-2 300 3NS5 460 120 3
. MP: 4 3HN-4 400 14.0 1 + K8432 MP: 1 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 -100 40 1 @S ~5~~3 ¢ A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3sW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0 L
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN3 600 3NN5 660 15.0 1 v J7 4HW4 -420 4HW-1 50 105 9
* 95 MP: 3 3NN4 630 10.0 9 + QT853 MP: 1.5 3HW-1 50 105 1
% Q73 3NN3 600 30 5 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
¢ 17 MP: 10.5 3NN4 430 105 7 K, MP: 6 3NS4 630 14.0 1
% KJ974 4SN4 420 5.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 115 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 4HN-1 100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ & A E ~~~~~ & J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (EW) 3NS-1 50 155 1
5SW-1_ 100 6HW-1 100 12.0 1 v KQJ3 2SN5 -200 4HN-1 50 155 1
MP: 12 5SW-1 100 120 1 + Q86 MP: 13 2NS3 -150 14.0 1
4HW-1 100 120 1 aT 2SN5 -200 13.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 -620 7.0 4 @ A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 430 7.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 3.5 6
ROIVAN LA 3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ % A7542

FOH IR H




. Rd 0 (E 4HES5 450 145 4
v K42 3NW3 400 3NE4 430 115 1
¢ J732 MP: 1.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 1.5 1
¢ ATS 3NW3 400 15 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200  15.0 1
v Q43 4SE-2 -200 4SE-2 -200 15.0 2
¢ A982 MP: 15 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd0 (EW) 2SW4 170 16.0 1
v AQ862 2SW-1 -50 3HN-3 150 15.0 1
¢ J98 MP: 2.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 28W-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F10H k68 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

6 ﬂ(%ﬁ My MP:| 139.5 My MP %: 51.29% Rank: 15/34
E}ﬁﬁ NOWSL8A1T2B1
— s—— - o ———— e T+ —
# 1 » Q84 Rd 0 (EW) .0 1 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 6HN-1 50 .0 1 v AJ3 4HW-1 50 4HXW-1 100 14.0 1
* K MP: 15 5 2 + 96 MP: 11 5HW-1 50  11.0 1
& AQT 12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 85 4 & A432 5CN-1 -50 8.0 1
v T42 v 76 85 2 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 50 1 ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 40 1 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Obp #: 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 3NE5 460 460 105 1 v 972 5CN6 420 3NS6 490 140 2
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 11 3NN6 490 14.0 1
& 1543 5SW5 450 35 1 « AKQT94 5CN6 420 11.0 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3CN3 -110 2SW2 110 150 1 v AKQJ8763 5SW6 -680 5CXW-1 200 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: 10 S5HXN-2  -500 1
& AK9852 3DS-2 100 135 1 %3 5SW6 -680 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 4SW6 -680 3
¢ 42 + 8753 3CN3 <110 4.0 7 @e¢ QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6  -1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 2NE2 120 3DXS-2 500 15.0 1 v JT 3NS4 430 3NS5 460 120 3
. MP: 10 3HN-4 400 14.0 1 + K8432 MP: 7.5 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 W& T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 Qv A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 @e T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E2~~12 & 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0
#5 & KT95 Rd 0 (EW) 2HXW-3 500 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 -630 3NN3 -600 130 5 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 6 3NN4 -630 6.0 9 + QT853 MP: 10.5 3HW-1 50 10.5 1
% Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-4 -800 0.0 1 e QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 . ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN3 400 3NS4 430 105 3 v AQ432 4HXN-1 -200 3CXE-4 1100 155 1
¢ 17 MP: 3.5 3NN4 430 105 7 * KJ MP: 0.5 3NS4 630 14.0 1
% KJ974 4SN4 420 5.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 3HN3 140 115 1
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 115 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1 -200 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2  -200 05 1
E ~~~~~ & A E ~~~~~ & J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4SW4 -620 6HW-1 100 12.0 1 v KQJ3 3NXS5 750 3NS5 460 125 6
MP: 7 5SW-1 100 120 1 + Q86 MP: 16 3NS4 430 9.0 1
4HW-1 100 120 1 aT 4SN4 420 8.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 400 55 4
v QU982 v AK5 4sW4 <620 7.0 4 Qv A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 3NE5 -660 2.0 1 ¢4VaAaN, 3NS-1 50 05 1
N ~~~~~ 64. Obp #: 5SW6 680 1.0 1@;N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E ~~55 g E ~~~~~ % A7542
~ o~ 5 5 ~~~~~

F1HE HLBH




. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 4SW-1 -50 3HN-3 150 15.0 1
¢ J98 MP: 2.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F1HE LBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

7 ﬁ‘%ﬁ; My MP:| 133.5 My MP %: 49.08% Rank: 19/34
Bﬁ@@ N-1W8L9A0T3B2
— E— - I ——— v e 1 e+
# 1 » Q84 Rd 0 (EW) .0 1 & QU85 Rd 0 (NS) 5HXW-2 300 15.5 2
v AKQ953 6DS6 -920 .0 1 v AJ3 5HXW-2 300 4HXW-1 100 14.0 1
* K MP: 4 5 2 + 96 MP: 15.5 S5HW-1 50 11.0 1
& AQT 12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 85 4 & A432 5CN-1 -50 8.0 1
v T42 v 76 85 2 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 50 1 ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 40 1 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Obp #: 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 3NE5 460 460 105 1 v 972 3NN6 490 3NS6 490 140 2
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 14 3NN6 490 14.0 1
& 1543 5SW5 450 35 1 « AKQT94 5CN6 420 11.0 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3CN3 -110 2SW2 110 150 1 v AKQJ8763 4SW6 -680 5CXW-1 200 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: 10 S5HXN-2 -500 1
& AK9852 3DS-2 100 135 1 %3 5SW6 -680 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 4SW6 -680 3
¢ 42 + 8753 3CN3 <110 4.0 7 @e¢ QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6  -1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 2NW2 120 3DXS-2 500 15.0 1 v JT 3NS4 430 3NS5 460 120 3
. MP: 10 3HN-4 400 14.0 1 + K8432 MP: 7.5 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E2~~12 & 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0
#5 & KT95 Rd 0 (EW) 2HXW-3 500 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 -630 3NN3 -600 130 5 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 6 3NN4 -630 6.0 9 + QT853 MP: 10.5 3HW-1 50 10.5 1
% Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-4 -800 0.0 1 e QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 . ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 3NN-1 -100 3CXE-4 1100 155 1
¢ 17 MP: 5.5 3NN3 -400 125 2 K, MP: 6 3NS4 630 14.0 1
% KJ974 4SN4 -420 110 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 N 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ & A E ~~~~~ & J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4DXS-4 -1100 6HW-1 100 12.0 1 v KQJ3 3NS3 400 3NS5 460 125 6
MP: 0 5SW-1 100 120 1 + Q86 MP: 5.5 3NS4 430 9.0 1
4HW-1 100 120 1 aT 4SN4 420 8.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 400 55 4
v QU982 v AK5 4SW4 -620 7.0 4 @ A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 3NE5 -660 2.0 1 ¢4VaAaN, 3NS-1 50 05 1
N ~~~~~ 64. Obp #: 5SW6 680 1.0 1 H@N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E ~~55 g E ~~~~~ % A7542
~ o~ 5 5 ~~~~~

F13HEHLBH




. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200  15.0 1
v Q43 4SE-2 -200 4SE-2 -200 15.0 2
¢ A982 MP: 15 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3HN3 -140 3HN-3 150 15.0 1
¢ J98 MP: 0 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FlaHE HLBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

8 FEREIR My MP:| 156.5 My MP %:| 57.54% Rank: 7134
e N6W11L5A1T1B2 FMP: 25
— Y — - —
# 1 » Q84 Rd 0 (EW) 6HN-2 100 16.0 1 [g# 8 & QJ85 Rd 0 (NS) SHXW-2 300 155 2
v AKQ953 4HN5 -450 6HN-1 50 15.0 1 v AJ3 4SXN-3 -500 4HXW-1 100 14.0 1
*K MP: 13.5 4HNS -450 13.5 2 + 96 MP: 0.5 SHW-1 50 11.0 1
& AQT 3NN5 -460  12.0 1 % J853 4HW-1 50 110 4
& JT6 & AK7532 4HN6 -480 8.5 4 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 5HN6 -480 8.5 2 v KQ975 v T8642 5CN-2  -100 7.0 1
4 9632 ¢ 84 3NN6 -490 5.0 1 @e A + Q72 3HW3 -140 6.0 1
» 763 & K54 6DS6 -920 4.0 1 @& A97 » 4 5CN-3  -150 5.0 1
VAN, 6DS7 -940 3.0 1 ROVAN 4 S5CXN-2 -300 4.0 1
N 565~5 »J8 Obp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 -420 25 2
S 565~1 ¢AQIT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ & J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
# 2 s 13 Rd 0 (EW) 460 10.5 ##g# 9 419 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 3NE5 460 460 105 1 v 972 4CN4 130 3NS6 490 140 2
¢ AT3 MP: 10.5 4SW5 450 35 1 ¢ Q7 MP: 4.5 3NN6 490 14.0 1
% T543 5SW5 450 35 1 & AKQT94 5CN6 420 110 3
» KJ64 & AQ8 5DES 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @ AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 + Q972 6CwW-2 -100 0.0 1 Qe 83 + T952 3CN6 170 7.0 1
L] & A98 & 732 » J6 2DS6 170 7.0 1
2975 #eVAN 4A 4CN4 130 45 2
N Opp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S S 45~~1 ¢ AKJB4 5CN-1 -50 20 1
E E ~~ 1 ~~ %85 3NS-2 -100 05 2
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 3CN3 -110 28W2 110 150 1 v AKQJ8763 5CXW-1 200 5CXW-1 200 15.0 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: 15 SHXN-2 -500 14.0 1
& AK9852 3DS-2 100 135 1 %3 5SW6 -680 10.0 1
& AK9742 43 3CN-1 50 10.0 3 We QU873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 3CN3 =110 4.0 7 @e QJ8 + AK74 4SE6 -680 10.0 1
» 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
% ¢V BN 4Q85 ®OVAN 5 T5 6SW6  -1430 2.5 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT96 S ~~2~~ 4752
E ~~21~ a4 E 56 ~6~ & 17654
~~21~ 56 ~6~
# 4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 # 11 » QJ8 Rd 0 (NS) SHXW-3 500 16.0 1
v QT752 3DXS-1 200 3DXSs-2 500 15.0 1 v JT 3NN5 460 3NS5 460 12.0 3
* MP: 12 3HN-4 400 14.0 1 + K8432 MP: 12 3NN5 460 120 4
» KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
» AQT9 # 532 3DXS-1 200 12.0 1 @ T9763 s Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 100 2 @ A9872 v 6543 3NS3 400 4.0 4
+ AT96 + 73 2NW2 120 100 1 @e T ¢ Q 4HXE-2 300 1.0 1
» 96 & AT854 3DS-1 100 80 1 @& 98 » JT762 4DS5 150 0.0 1
FOIVBN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Opp #: 2DS2 90 60 1@N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 -100 40 1 @S ~5~~3 ¢ A9765
E 2~~12 #32 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 -110 2.0 1
2SW-2 2200 10 A e
#5 & KT95 Rd 0 (EW) 2HXW-3 -500 16.0 1 # 12 & A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 2HXW-4 -800 3NN3 -600 130 5 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 0 3NN4 -630 6.0 9 + QT853 MP: 10.5 3HW-1 50 105 1
*» Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
» AQ6 # 432 2HXW-4 -800 0.0 1 Qe QJ65 # 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 -420 1.5 4
¢ KT3 ¢ 642 * A72
» 85 & J942 % QT84 & AKJ5
o VABN 4J87 POV AN
N 44~44 93 Opp #: N ~3~~~ » K93 Oop #:
S 44 ~44 ¢AQSB7 S ~ 3~~~ ¢KJB4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 » KT82 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN3 -400 3Cs4 -130 14.0 1 v AQ432 2HN3 140 3CXE-4 1100 15.5 1
¢ T7 MP: 12.5 3NN3 -400 125 2 * KJ MP: 11.5 3NS4 630 14.0 1
» KJ974 4SN4 -420 11.0 1 3CXE-2 500 13.0 1
# 7643 & A95 3NN4 -430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 5.5 3 Wv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 @e T8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
4VAN 4 FOVAN A7 3HN-1 -100 6.0 1
N ~4~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1 -200 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ & J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 Q@# 14 & KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4SW5 650 5SW6 680 15.0 1 v KQJ3 3NS4 430 3NS5 460 125 6
MP: 12.5 3NES 660 14.0 1 + Q86 MP: 9 3NS4 430 9.0 1
48W5 650 125 2 aT 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 We J2 & AB65 3NS3 400 55 4
v AKS 48W4 620 9.0 4 @v A8762 v9 2SN5 200 3.0 1
+ AJ543 3sw4 170 6.0 1 e J42 + T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 @& J86 « KQ93 4HN-1 50 05 1
58W-1 100 4.0 1 ®*OIVAN 4 3NS-1 50 05 1
Opp #: 6HW-1 100 40 1 @N ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9
E ~~~~~ & A7542

F15H LB H




. Rd 0 (NS 3NW-2 100 16.0 1
v K42 3NE3 -400 3NW3 -400 145 1
¢ J732 MP: 14.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3HN-1 50 3HN-3 150 15.0 1
¢ J98 MP: 6 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F16H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

9 ﬁﬁj@ My MP:| 104.5 My MP %: 38.42% Rank: 32/34
;ﬁ%ﬁ N-7W5L12A0T1B2
— - — E—
# 1 » Q84 Rd 0 (EW) .0 1 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 3NN5 -460 .0 1 v AJ3 5CN-2 100 5DXS-3 500 155 1
*K MP: 12 5 2 + 96 MP: 9 4HW4 420 135 2
& AQT 3NN5 -460  12.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 4HN6 -480 8.5 4 W 976 & A432 5CN-3 150 11.0 1
v T42 v 76 5HN6 -480 8.5 2 v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 3NE5 460 460 105 1 v 972 5CN-1 -50 3NS6 490 140 2
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 2 3NN6 490 140 1
& 1543 5SW5 450 35 1 & AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 20 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 3CN3 -110 2SW2 110 150 1 v AKQJ8763 6SW6 -1430 5CXW-1 200 15.0 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: 2.5 5HXN-2 -500 14.0 1
& AK9852 3DS-2 100 135 1 %3 5SW6 -680 10.0 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 3CN3 <110 4.0 7 @e¢ QJ8 + AK74 4SE6 -680 10.0 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
ROV AN Q85 VBN 4,795 6SW6  -1430 25 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 3NE-1 -100 3DXS-2 500 15.0 1 v JT 3NS3 400 3NS5 460 120 3
. MP: 4 3HN-4 400 14.0 1 + K8432 MP: 4 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~ + A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0
#5 & KT95 Rd 0 (EW) 2HXW-3 500 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 -630 3NN3 -600 130 5 v J7 4HW4 -420 4HW-1 50 105 9
* 95 MP: 6 3NN4 -630 6.0 9 + QT853 MP: 1.5 3HW-1 50 105 1
% Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-4 -800 0.0 1 e QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 3HN-1 -100 3CXE-4 1100 155 1
¢ 17 MP: 5.5 3NN3 -400 125 2 K, MP: 6 3NS4 630 14.0 1
» KJ974 4SN4 -420 110 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
6HW-1 -100 5SW6 680 15.0 1 v KQJ3 3NS5 460 3NS5 460 125 6
MP: 4 3NE5 660 14.0 1 + Q86 MP: 12.5 3NS4 430 9.0 1
4SW5 650 125 2 aT 4SN4 420 8.0 1
» KQ762 4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v QU982 v AK5 4SW4 620 9.0 4 W@v A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NS-1 50 05 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @N ~~332 ¥ T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ % A7542

ERVA=RE I N=]



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 3NE4 -430 3NW3 -400 145 1
¢ J732 MP: 4.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 15,5 2
v Q43 4HS7 510 4HS7 510 13.0 3
¢ A982 MP: 13 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW3 -140 4SW-1 50 135 1
¢ J98 MP: 3.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 28W3 -140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F18HE 68 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 O ﬁ[},@j’ﬁ My MP:| 132.5 My MP %: 48.71% Rank: 20/34
$§E5§ N3W10L7A0T2B3
— —— - — E—
# 1 » Q84 Rd 0 (NS) .0 3 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 3NN6 490 0 1 v AJ3 5CN-3 150 5DXS-3 500 155 1
*K MP: 11 .0 1 + 96 MP: 11 4HW4 420 135 2
& AQT 0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 75 2 & A432 5CN-3 150 11.0 1
v T42 v 76 75 4 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 40 1 ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 25 2 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 419 Rd 0 (EW) 3NS-2 100 155 2
v A952 3NE5 460 460 105 1 v 972 2DS6 -170 5CN-1 50 140 1
+ AT3 MP: 10.5 4SW5 450 35 1 ¢ Q7 MP: 9 3DS3 -110 13.0 1
& 1543 5SW5 450 35 1 & AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2DS6 170 9.0 1
v I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3DS6 170 9.0 1
% A98 % 732 » J6 2NN6 240 7.0 1
2975 S eVBN 4ASS 5CN6 -420 5.0 3
~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 3CN-1 50 2SW2 110 150 1 v AKQJ8763 6SW6 -1430 5CXW-1 200 15.0 1
KQ MP: 10 3CN-2 100 135 1 + 963 MP: 2.5 5HXN-2 -500 14.0 1
& AK9852 3DS-2 100 135 1 %3 5SW6 -680 10.0 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 4SE6 -680 10.0 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
ROV AN Q85 VBN 4,795 6SW6  -1430 25 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 2DS2 -90 3DXS-2 500 15.0 1 v JT 4DS5 150 3NS5 460 120 3
. MP: 6 3HN-4 400 14.0 1 + K8432 MP: 0 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 7.0 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~ + A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0
#5 & KT95 Rd 0 (EW) 2HXW-3 500 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 -630 3NN3 -600 130 5 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 6 3NN4 -630 6.0 9 + QT853 MP: 10.5 3HW-1 50 10.5 1
% Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-4 -800 0.0 1 e QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 4SN4 -420 3Cs4 -130 140 1 v AQ432 3CXE-4 1100 3CXE-4 1100 155 1
¢ 17 MP: 11 3NN3 -400 125 2 * KJ MP: 15.5 3NS4 630 14.0 1
» KJ974 4SN4 -420 110 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 -430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4HW4 620 5SW6 680 15.0 1 v KQJ3 3NS5 460 3NS5 460 125 6
MP: 9 3NE5 660 14.0 1 + Q86 MP: 12.5 3NS4 430 9.0 1
4SW5 650 125 2 aT 4SN4 420 8.0 1
» KQ762 4 J83 4HW4 620 9.0 1 §e J2 & A865 3NS3 400 55 4
v QU982 v AK5 4SW4 620 9.0 4 Wv A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NS-1 50 05 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ % A7542

F19HE LB H



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE5 -450 3NW3 -400 145 1
¢ J732 MP: 1.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HES -450 1.5 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4SE-3 300 4HS7 510 13.0 3
¢ A982 MP: 3 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 30 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW3 -140 4SW-1 50 135 1
¢ J98 MP: 3.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 28W3 -140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

$£20H k68 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

HEE My MP:| 162.0 My MP %: 59.56% Rank: 2/34
TEr N1W9ILSAOT3B2 FMP: 101
- m— ——
Rd 0 (NS) 6HN6 980 150 3 # 8  QJ85 Rd0 (EW) 4SXN-3 500 15.5 1
v AKQ953 4HN6 480 6DS7 940 13.0 1 v AJ3 4HW-1 -50 5DXS-3 500 15.5 1
MP: 7.5 6DS6 920 120 1 * 96 MP: 5 4HW4 420 135 2
3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& AK7532 5HN6 480 7.5 2 Ma 976 » A432 5CN-3 150 11.0 1
v 76 4HN6 480 7.5 4 v KQ975 v T8642 3HW3 140 10.0 1
¢ 84 3NN5 460 40 1 [@e AJ ¢ Q72 5CN-2 100 9.0 1
* K54 4HN5 450 25 2 @& A97 * 4 5CN-1 50 8.0 1
Iy 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
J Opp # 6HN-2 100 00 1N 31~~~ w Obp #: 5HW-1 -50 50 1
AQJT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
Rd 0 (NS) 6CW-2 100 16.0 1 @# 9 & T9 Rd0 (EW) 3NS-2 100 155 2
3NE5 -460 6DE-1 50 15.0 1 v 972 3NS-2 100 5CN-1 50 140 1
MP: 5.5 5DE5 -400 14.0 1 ¢ Q7 MP: 15.5 3DS3 -110 13.0 1
5SW5 450 125 1 « AKQT94 4CN4 -130 115 2
& AQ8 4SW5 450 125 1 @73 » KQ864 2DS6 -170 9.0 1
I v KQJ 3NW5 460 55 1 Mv AQJ854 v KT 3CN6 -170 9.0 1
¢ Q972 3NE5 -460 5.5 #it|le 83 ¢ T952 3DS6 170 9.0 1
% A98 * 732 » J6 2NN6 240 7.0 1
2975 S eVBN 4ASS 5CN6 420 5.0 3
Obp #: N 45~~1 963 Obp #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd0 (EW) 135 6
3CN-2 100 2SW2 110 15.0 1 v AKQJ8763 5SE6 680 10.0 1
MP: 13.5 3CN-2 100 135 1 + 963 MP: 6 6.0 1
3DS-2 100 135 1 %3 60 3
43 3CN-1 50 10.0 3 e QU873 & AK42 6.0 2
v AKT62 3NS-1 50 100 2 @v 42 + v5 6.0 1
+ 8753 3CN3 110 40 7 ¢ QB8 ¢ AK74 20 1
% QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 1.0 1
¢VaN HOVABN 4T 00 1
1~~~ Opp #: N ~~2~~ 979 Obp #:
1~~~ S ~~2~~ ¢752
~21~ E 56 ~6~ &T7654
~21~ 56 ~6~
Rd 0 (EW) 4SXN-4 1100 16.0 1 W# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
3DXS-2 500 3DXS-2 500 15.0 1 v JT 3NN5 460 3NS5 460 120 3
MP: 15 3HN-4 400 14.0 1 + K8432 MP: 12 3NN5 460 120 4
3NN-3 300 13.0 1 % AK3 3NS4 430 75 2
# 532 3DXS-1 200 12.0 1 & T9763 a A4 5DS5 400 4.0 1
v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
¢ 73 2NW2 120 100 1 Qe T ¢ QJ 4HXE-2 300 1.0 1
» AT854 3DS-1 100 80 1 W98 » JT762 4DS5 150 0.0 1
&N 2CE2 90 7.0 1 IV BN 4K
~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Obp #:
~ ~ ~ ¢ KQJ8542 3NE-1 -100 40 1 @S ~5~~3 ¢ A9765
~12 a32 3NW-1 100 40 1 @E ~~~~~ % Q54
~12 3sW-1 100 40 1 Q@W ~~~~~
3DS3 110 2.0 1
2SW-2 2200 A0 A B g
Rd 0 (EW) 2HXW-3 500 16.0 1 Q# 12 » A9 Rd0 (NS) 3DXS3 670 16.0 1
3NN4 -630 3NN3 -600 130 5 v J7 4HW4 -420 4HW-1 50 105 9
MP: 6 3NN4 630 6.0 9 + QT853 MP: 1.5 3HW-1 50 105 1
3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
# 432 2HXW-4 -800 0.0 1 W& QJ65 » 832 2HW4 170 45 1
v T76 v AQ542 I v T86 4HW4 420 15 4
¢ 642 ¢ A72
* J942 * QT84 » AKJ5
& J87 oIVAN
v Obp #: N ~3~~~ »K3 Oop #:
S ~ 3~~~ ¢KJ4
E 3~321 &3
4~321
Rd 0 (EW) 3NN-1 50 155 2g# 13 & KT65 Rd0 (NS) 3DXE-4 1100 15.5 1
3NN-1 50 3Cs4 -130  14.0 1 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
MP: 15.5 3NN3 -400 125 2 K MP: 6 3NS4 630 14.0 1
4SN4 -420 11.0 1 3CXE-2 500 13.0 1
& A95 3NN4 -430 5.5 7 [l Q8432 3HN3 140 115 1
— v AJ3 3NS4 -430 55 3 @v JT9% 2HN3 140 115 1
¢ 54 1CXE-2 -500 0.0 1 @eT8 4HN-1 100 6.0 7
% QT865 * 98 3NN-1 100 6.0 1
ry BOVABN 4 A7 3HN-1 100 6.0 1
Obp #: N ~~3~2 vK8 Obp #: 4HXN-1 200 0.5 1
S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ # J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 « KQT97 Rd0 (NS) 3NXS5 750 16.0 1
4SW5 650 5SW6 80 15.0 1 v KQJ3 2NS3 150 3NS5 460 125 6
MP: 12.5 3NE5 660 14.0 1 + Q86 MP: 2 3NS4 430 9.0 1
4SW5 650 125 2 aT 4SN4 420 8.0 1
# J83 4HW4 620 9.0 1 W4 J2 » A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 Wv A8762 v9 2SN5 200 3.0 1
+ AJ543 3sw4 170 6.0 1 We J42 ¢ T753 2NS3 150 2.0 1
* Q4 4HW-1  -100 4.0 1 @& J86 » KQ93 4HN-1 50 05 1
55W-1 100 4.0 1 ¢4VaAaN, 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Obp #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9
E ~~~~~ % A7542

F2H HL8HE



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 873 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4SXE-3 800 4HS7 510 13.0 3
¢ A982 MP: 15.5 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3SW-1 50 4SW-1 50 13.5 1
¢ J98 MP: 13.5 3swW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F£0HE k8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 2 ﬁ;ﬂ&% My MP:| 104.0 My MP %: 38.24% Rank: 33/34
ﬁ‘ﬁ% N-8W4L12A1T0B1
— - — E—
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 4HN6 480 6DS7 940 13.0 1 v AJ3 4HW-1 -50 5DXS-3 500 155 1
*K MP: 7.5 6DS6 920 12.0 1 + 96 MP: 5 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 W 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 -50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (NS) 6CW-2 100 16.0 1 W# 9 419 Rd 0 (EW) 3NS-2 100 155 2
v A952 6DE-1 50 6DE-1 50 15.0 1 v 972 3NS6 -490 5CN-1 50 140 1
+ AT3 MP: 15 5DE5 -400 14.0 1 ¢ Q7 MP: 2 3DS3 -110 13.0 1
& 1543 5SW5 -450 125 1 & AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2DS6 170 9.0 1
v I v KQJ 3NW5 460 5.5 1 lv AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #itlle 83 ¢ T952 3DS6 170 9.0 1
% A98 % 732 » J6 2NN6 240 7.0 1
2975 S eVBN 4ASS 5CN6 -420 5.0 3
~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 |g# 10 46 Rd 0 (EW) 135 6
v J3 3NS-1 -50 3CN3 110 120 7 v AKQJ8763 4SW6 680 10.0 1
KQ MP: 6 3NS-1 50 6.0 2 + 963 MP: 6 6.0 1
& AK9852 3CN-1 50 6.0 3 %3 60 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
®eVAN 4Q85 HeVABN 4T 00 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 2SW-2 -200 3DXS-2 500 15.0 1 v JT 3NS5 -460 4HXE-2 -300 15.0 1
. MP: 1 3HN-4 400 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
« KQJ7 3NN-3 300 13.0 1 & AK3 5DS5 -400 12,0 1
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 2CE2 90 70 1 ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~ + A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 -110 2.0 1
2SW=2 2200 L0 I e
#5 & KT95 Rd 0 (EW) 2HXW-3 -500 16.0 1 J# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 -630 3NN3 -600 130 5 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 6 3NN4 -630 6.0 9 + QT853 MP: 10.5 3HW-1 50 10.5 1
% Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-4 -800 0.0 1 e QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NS4 -430 3Cs4 -130 140 1 v AQ432 4HN-2 -200 3CXE-4 1100 155 1
¢ 17 MP: 5.5 3NN3 -400 125 2 K, MP: 0.5 3NS4 630 14.0 1
» KJ974 4SN4 -420 110 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 -430 5.5 7 s Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 <430 55 3 @v JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4HW-1 -100 5SW6 680 15.0 1 v KQJ3 3NS5 460 3NS5 460 125 6
MP: 4 3NE5 660 14.0 1 + Q86 MP: 12.5 3NS4 430 9.0 1
4SW5 650 125 2 aT 4SN4 420 8.0 1
» KQ762 4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v QU982 v AK5 4SW4 620 9.0 4 W@v A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 3sw4 170 6.0 1 We J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 5SW-1 -100 4.0 1 FOVAN 4 3NS-1 50 05 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ % A7542

£ HE HLBBH



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3HN-3 -150 4SW-1 50 135 1
¢ J98 MP: 1 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 -140 3.5 3
N ~22~1 #T43 Opp #: 3HN-3 -150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FuHE HLBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 3 }I‘[ﬁﬁ My MP:| 102.0 My MP %: 37.50% Rank: 34/34
ﬁ%gﬁ N-8W4L12A1T1B3
— —— - m— E—
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6HN-2 -100 6DS7 940 13.0 1 v AJ3 5HXW-2 -300 5DXS-3 500 155 1
* K MP: 0 6DS6 920 12.0 1 * 96 105 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 -50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ v Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 05 2
#2 4T3 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & T9 Rd 0 (EW) 3NS-2 100 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3DS6 -170 5CN-1 50 140 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 9 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3CN6 -170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 |g# 10 46 Rd 0 (EW) 135 6
v J3 3DS-2 -100 3CN3 110 120 7 v AKQJ8763 5SE6 680 10.0 1
KQ MP: 2.5 3NS-1 50 6.0 2 + 963 MP: 6 6.0 1
& AK9852 3CN-1 -50 6.0 3 % 3 60 3
& AK9742 43 3DS-2 100 25 1 e QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
®eVAN 4Q85 HOVABN 4T 00 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3NN-3 -300 15.0 1 v JT 3NS5 -460 4HXE-2 -300 15.0 1
. MP: 3 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2@S ~5~~ + A9765
E 2~~12 832 40 1 M@E ~~~~~ « Q54
2~~12 30 1gQW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 Q# 12 » A9 Rd 0 (EW) 4HW4 420 145 4
v KQ95 3NN4 -630 130 5 v J7 4HW4 420 2HW4 170 115 1
* 95 MP: 6 60 9 + QT853 MP: 14.5 3HW4 170 115 1
% Q73 1.0 1 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
¢ 17 MP: 5.5 3NN3 -400 125 2 K, MP: 6 3NS4 630 14.0 1
% KJ974 4SN4 -420 11.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o *OVABN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
3sw4 170 5SW6 680 15.0 1 v KQJ3 3NS5 460 3NS5 460 125 6
MP: 6 3NE5 660 14.0 1 + Q86 MP: 12.5 3NS4 430 9.0 1
4SW5 650 125 2 & T 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 Wv A8762 v9 2SN5 200 3.0 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 @& J86 » KQ93 4HN-1 50 05 1
5SW-1 100 4.0 1 FOVAN 4 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9
E ~~~~~ % A7542

F25HHLBHE



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3SW3 -140 4SW-1 50 135 1
¢ J98 MP: 3.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 6.5 2
& A87 & KQT3 3sw3 -140 35 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

$26H 68 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 4 ﬁﬁ;?l} My MP:| 120.5 My MP %: 44.30% Rank: 28/34
Bﬁ%iﬁ N-3W7L10A0TOB3
— - — E—
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 4HN6 480 6DS7 940 13.0 1 v AJ3 3HW3 140 5DXS-3 500 155 1
* K MP: 7.5 6DS6 920 12.0 1 * 96 MP: 10 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 W 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd 0 (EW) 3NS-2 100 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3DS3 -110 5CN-1 50 14.0 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 13 3Ds3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2DS6 170 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3DS6 170 9.0 1
% A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (EW) 135 6
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763 4SE6 680 10.0 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 6 60 1
& AK9852 3CN-1 50 60 3 % 3 60 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
P ¢ VAN 4Q8 o OVBN ,T95 00 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 4SXN-4 -1100 15.0 1 v JT 3NS5 -460 4HXE-2 -300 15.0 1
. MP: 0 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2@S ~5~~ + A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 & A9 Rd 0 (EW) 4HW4 420 145 4
» KQ95 3NN3 600 15.0 1 v J7 2HW4 170 2HW4 170 115 1
+95 MP: 3 10.0 9 + QT853 MP: 11.5 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 We Q65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 3NS4 -630 4HXN-1 200 15.5 1
¢ T7 MP: 5.5 3NN3 -400 125 2 K, MP: 2 3HN-1 100 10.0 1
% KJ974 4SN4 -420 11.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 45 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ % J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
6SW-2 -200 5SW6 680 15.0 1 v KQJ3 3NS5 460 3NS5 460 125 6
MP: 1 3NE5 660 14.0 1 + Q86 MP: 12.5 3NS4 430 9.0 1
4SW5 650 125 2 & T 4SN4 420 8.0 1
» KQ762 4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v QU982 v AK5 4SW4 620 9.0 4 W@v A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NS-1 50 05 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @N ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ & A7542

U H HLBH



. R NS 3NW-2 100 16.0 1
v K42 4HW4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS5 450 4HS7 510 13.0 3
¢ A982 MP: 4 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3SW-1 50 4SW-1 50 13.5 1
¢ J98 MP: 13.5 3swW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FRHE HBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 5 Bﬁ%j My MP:| 118.0 My MP %: 43.38% Rank: 30/34
ﬁ.gﬁ N-1W7L8A2T2B5
— —— - S —
# 1 » Q84 Rd 0 (NS) 6HN6 980 15.0 3 # 8 & QU85 Rd0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6HN6 980 6DS7 940 13.0 1 v AJ3 4HW-1 -50 5DXS-3 500 155 1
* K MP: 15 6DS6 920 12.0 1 * 96 MP: 5 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 -50 50 4
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd0 (EW) 3NS-2 100 155 2
w» A952 4SW5 -450 6DE-1 50 15.0 1 v 972 3HXW-2 -500 5CN-1 50 140 1
¢ AT3 MP: 12.5 5DE5 -400 14.0 1 * Q7 MP: 0 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @es 73 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 3NW5 460 5.5 1 lv AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #itlle 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N ~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (NS) 3CN4 130 16.0 1 [g# 10 46 Rd 0 (EW) 135 6
v J3 3CN-1 -50 3CN3 110 120 7 v AKQJ8763 6NE-7 -700 10.0 1
KQ MP: 6 3NS-1 -50 6.0 2 + 963 MP: 0 6.0 1
& AK9852 3CN-1 50 6.0 3 % 3 60 3
& AK9742 43 3DS-2 100 25 1 e QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
P ¢ VAN 4Q8 o OVBN ,T95 00 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 2CE2 -90 15.0 1 v JT 5HXW-3 -500 4HXE-2 -300 15.0 1
. MP: 9 14.0 1 + K8432 MP: 0 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 We T ¢ Q 3NS5 -460 4.0 3
* % AT854 9.0 1 W=+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 & A9 Rd0 (EW) 4HW4 420 145 4
» KQ95 3NN3 600 15.0 1 v J7 3DXS3 -670 2HW4 170 115 1
+95 MP: 3 10.0 9 + QT853 MP: 0 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 We Q65 & 832 4HW-1 -50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 . ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NS4 430 3NS4 430 105 3 v AQ432 4HN-1_ 100 4HXN-1 200 15.5 1
¢ T7 MP: 10.5 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd0 (EW) 3NS-1 50 1
3NE5 660 5SW6 680 15.0 1 v KQJ3 3NS-1 50 4HN-1 50 1
MP: 14 3NE5 660 14.0 1 + Q86 MP: 15.5 2NS3 -150 1
4SW5 650 125 2 & T 2SN5 -200 1
4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 -400 4
v AK5 4SW4 620 9.0 4 W@v A8762 v9 4SN4 -420 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 3NS4 -430 1
% Q4 4HW-1 100 4.0 1 @ J86 » KQ93 3NS5 -460 6
5SW-1 100 4.0 1 ¢VAN , 3NXS5 -750 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9

E ~~~~~ & A7542

$£29H L8 HE



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE5 -450 3NW3 -400 145 1
¢ J732 MP: 1.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HES -450 1.5 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 4HN-2 -100 4SW-1 50 135 1
¢ J98 MP: 8 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 80 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F30H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 6 *g{ﬁﬂé My MP:| 158.0 My MP %: 58.09% Rank: 6/34
%E?g N3W10L7A0T1B0 FMP: 30
— - m— E—
# 1 » Q84 Rd 0 (NS) 6HN6 980 15.0 3 # 8 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6HN6 980 6DS7 940 13.0 1 v AJ3 4HW4 420 5DXS-3 500 15.5 1
* K MP: 15 6DS6 920 12.0 1 * 96 MP: 13.5 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & T9 Rd 0 (EW) 3NS-2 100 155 2
w» A952 5DE5 -400 6DE-1 50 15.0 1 v 972 2NN6 -240 5CN-1 50 140 1
¢ AT3 MP: 14 5DE5 -400 140 1 * Q7 MP: 7 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 3NW5 460 5.5 1 lv AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #itlle 83 ¢ T952 3DS6 -170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (EW) 135 6
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763 5HXN-2 500 10.0 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 2 6.0 1
& AK9852 3CN-1 50 60 3 % 3 60 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
®eVAN 4Q85 HOVABN 4T 00 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3SW-1 100 15.0 1 v JT 3NS3 -400 4HXE-2 -300 15.0 1
. MP: 12 14.0 1 + K8432 MP: 12 3NS3 -400 120 4
& KQJ7 12.0 1 % AK3 5DS5 -400 120 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2@S ~5~~ + A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 » A9 Rd 0 (EW) 4HW4 420 145 4
v KQ95 3NN3 600 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
* 95 MP: 3 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 -50 55 1
& AQ6 # 432 0.0 1 We Q65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 3HN3 -140 4HXN-1 200 15.5 1
¢ 17 MP: 10.5 3NN4 430 105 7 * KJ MP: 4.5 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 -140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ # J654
Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (EW) 3NS-1 50 155 1
4SW4 -620 6HW-1 100 12.0 1 v KQJ3 3NS3 -400 4HN-1 50 155 1
MP: 7 5SW-1 100 120 1 + Q86 MP: 10.5 2NS3 -150 14.0 1
4HW-1 100 120 1 & T 2SN5 -200 13.0 1
4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 105 4
v AK5 4sW4 <620 7.0 4 Qv A8762 v9 4SN4 -420 8.0 1
¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 430 7.0 1
% Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 3.5 6
3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E ~~~~~ % A7542

ERIR=RE I N=]



. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 15,5 2
v Q43 4HS7 510 4HS7 510 13.0 3
¢ A982 MP: 13 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3HN-1 -50 4SW-1 50 135 1
¢ J98 MP: 10 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50  10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

$£3RHE HLBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 7 gﬂﬁﬁi‘ My MP:| 120.5 My MP %: 44.30% Rank: 27134
fiﬁﬁ N-3W7L10A0T3B3
— — - — E——
# 1 » Q84 Rd 0 (NS) 6HN6 980 15.0 3 W# 8 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 6DS7 940 6DS7 940 13.0 1 v AJ3 5DXS-3 -500 4HXW-1 100 14.0 1
* K MP: 13 6DS6 920 12.0 1 * 96 MP: 0.5 S5HW-1 50 11.0 1
& AQT 3NN6 490 11.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd0 (EW) 3NS-2 100 155 2
w» A952 3NW5 -460 6DE-1 50 15.0 1 v 972 5CN6 -420 5CN-1 50 140 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 5 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 3NW5 460 55 1 @v AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #itlle 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (NS) 3CN4 130 16.0 1 [g# 10 46 Rd 0 (EW) 135 6
v J3 2SW2 -110 3CN3 110 120 7 v AKQJ8763 6SW6 1430 10.0 1
KQ MP: 1 3NS-1 50 6.0 2 + 963 MP: 13.5 6.0 1
& AK9852 3CN-1 50 60 3 % 3 60 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 60 2
v Q84 v AKT62 3CN-2 100 25 1 Mw42 + v5 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 @e¢ QJ8 + AK74 20 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
P ¢ VAN 4Q8 o OVBN ,T95 00 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 2NE2 -120 15.0 1 v JT 3NN5 -460 4HXE-2 -300 15.0 1
. MP: 6 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2@S ~5~~ + A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 QW ~~~~~
28 !
#5 & KT95 Rd 0 (NS) 16.0 1 Q# 12 & A9 Rd0 (EW) 4HW4 420 145 4
» KQ95 3NN3 600 15.0 1 v J7 3HW-1 -50 2HW4 170 115 1
+95 MP: 3 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 30 5 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 We Q65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 4HN-1_ 100 4HXN-1 200 15.5 1
¢ T7 MP: 10.5 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ % J654
Rd 0 (NS) 15.0 3 g# 14 & KQT97 Rd0 (EW) 3NS-1 50 155 1
6SW-2 200 12.0 1 v KQJ3 3NS3 -400 4HN-1 50 155 1
MP: 15 12.0 1 + Q86 MP: 10.5 2NS3 -150 14.0 1
12.0 1 & T 2SN5 -200 13.0 1
4 J83 10.0 1 Qo J2 & A865 3NS3 -400 105 4
v AK5 7.0 4 Qv A8762 v9 4SN4 -420 8.0 1
¢ AJ543 70 1 We J42 ¢ T753 3NS4 430 7.0 1
% Q4 35 2 Was J86 » KQ93 3NS5 -460 3.5 6
20 1 FOVAN 4 3NXS5 -750 0.0 1
Obp #: 6! 10 1 @IN ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E ~~~~~ & A7542

$33HE LB H



. Rd 0 (E HES 0 .5
v K42 4HE5 450 3NE4 430 115 1
¢ J732 MP: 14.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS7 -510 4SE-2 -200 15.0 2
¢ A982 MP: 3 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW4 -170 4SW-1 50 135 1
¢ J98 MP: 0 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 -150 1.0 1
S ~22~1 ¢AQT3 2sw4 -170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F3E LB H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

1 8 ﬂtﬁ‘g My MP:| 160.5 My MP %: 59.01% Rank: 3/34
Bﬁ%% N7W12L5A0T4B2 FMP: 76
— - — E—
# 1 » Q84 Rd 0 (EW) 6HN-2 100 16.0 1 [g# 8 & QU85 Rd 0 (NS) 5HXW-2 300 15.5 2
v AKQ953 5HN6 -480 6HN-1 50 15.0 1 v AJ3 5HXW-2 300 4HXW-1 100 14.0 1
* K MP: 8.5 4HNS -450 135 2 * 96 MP: 15.5 S5HW-1 50 11.0 1
& AQT 3NN5 -460 12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 4HN6 -480 8.5 4 M 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 5HN6 -480 8.5 2 v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd0 (EW) 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3NS-2 100 14.0 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 15.5 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 115 2
» KJo64 & AQ8 4SW5 -450 125 1 » KQ864 9.0 1
v38 I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 9.0 1
» & A98 & 732 » J6 70 1
4 975 B¢ VABN 4 A5 50 3
N Obp #: N 45~~1 963 Obp #: 20 1
S S 45~~1 eAKJ64 20 2
E E ~~ 1 ~~ %85 00 1
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 3CN-1 50 2SW2 110 150 1 v AKQJ8763 4SE6 -680 5CXW-1 200 15.0 1
KQ MP: 10 3CN-2 100 135 1 + 963 MP: 10 5HXN-2 -500 14.0 1
& AK9852 3DS-2 100 135 1 % 3 5SW6 -680 10.0 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 4SE6 -680 10.0 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 25 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3DXS-2 -500 15.0 1 v JT 3NS4 -430 4HXE-2 -300 15.0 1
. MP: 1 14.0 1 + K8432 MP: 8.5 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400  12.0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2@S ~5~~ + A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
20 1
L -
#5 & KT95 Rd 0 (EW) 16.0 1 g# 12 & A9 Rd 0 (NS) 3DXS3 670 16.0 1
» KQ95 2HXW-3 -500 130 5 v J7 3DXS3 670 4HW-1 50 105 9
+95 116 60 9 + QT853 MP: 16 3HW-1 50 105 1
% Q73 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 0.0 1 e QG5 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NS4 430 3NS4 430 105 3 v AQ432 3NN-1 100 4HXN-1 200 15.5 1
¢ T7 MP: 10.5 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ % J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd0 (NS) 3NXS5 750 16.0 1
6SW-2 -200 5SW6 680 15.0 1 v KQJ3 3NS3 400 3NS5 460 125 6
MP: 1 3NE5 660 14.0 1 + Q86 MP: 5.5 3NS4 430 9.0 1
4SW5 650 125 2 & T 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 W@v A8762 v9 2SN5 200 3.0 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
5SW-1 100 4.0 1 FOVAN 4 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @N ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9
E ~~~~~ & A7542

$35H S8 H



. Rd 0 (E 4HES5 450 145 4
v K42 3NE3 400 3NE4 430 115 1
¢ J732 MP: 1.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 6.5 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 15,5 2
v Q43 4HS7 510 4HS7 510 13.0 3
¢ A982 MP: 13 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 2SW3 140 3HN-3 150 15.0 1
¢ J98 MP: 12.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

$36H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

P pE My MP:| 131.0 My MP %: 48.16% Rank: 21/34
’gﬁ‘%ig N-1W8L9A0T3B1 -
—— — E—
Rd 0 (EW) 0 1  QJ85 Rd0 (EW) 4SXN-3 500 15.5 1
v AKQ953 3NN6 -490 .0 1 v AJ3 5CXN-2 300 5DXS-3 500 155 1
MP: 5 4HN5 -450 135 2 * 96 MP: 12 4HW4 420 135 2
3NN5 -460 12.0 1 % J853 5CXN-2 300 12.0 1
& AK7532 4HN6 -480 85 4 e 976 » A432 5CN-3 150 11.0 1
v 76 5HN6 -480 8.5 2 Mv KQ975 v T8642 3HW3 140 10.0 1
¢ 84 3NN6 490 50 1 [@e A ¢ Q72 5CN-2 100 9.0 1
* K54 6DS6 <920 4.0 1 @& A7 * 4 5CN-1 50 8.0 1
Iy 6DS7 -940 3.0 1 FOVAN o 4HW-1 50 50 4
J Opp # 6HN6 980 1.0 3@N 31~~~ » Obp #: S5HW-1 -50 50 1
AQJT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd0 (NS) 3HXW-2 500 16.0 1
3NE5 460 460 105 1 v 972 3DS3 110 3NS6 490 140 2
MP: 10.5 4SW5 450 35 1 ¢ Q7 MP: 3 3NN6 490 140 1
5SW5 450 35 1 « AKQT94 5CN6 420 110 3
& AQ8 5DE5 400 20 1 @73 » KQ864 2NN6 240 9.0 1
I v KQJ 6DE-1 50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ Q972 6CW-2 -100 00 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
* A98 * 732 » J6 2DS6 170 7.0 1
2 975 #eVABN 4AS5 4CN4 130 45 2
Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 20 1
E ~~ 1 ~~ %85 3NS-2 -100 05 2
Rd 0 (NS) 3CN4 130 16.0 1 |g# 10 46 Rd0 (EW) 135 6
3CN-2 -100 3CN3 110 120 7 v AKQJ8763 5SW6 680 10.0 1
MP: 2.5 3NS-1 50 6.0 2 + 963 MP: 6 6.0 1
3CN-1 50 6.0 3 %3 60 3
43 3DS-2 100 25 1 Wa QJ873 & AK42 60 2
v AKT62 3CN-2 100 25 1 @v 42 + v5 6.0 1
+ 8753 2SW2 110 1.0 1 e QI8 ¢ AK74 20 1
% QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 1.0 1
¢VaN HOVABN 4T 00 1
1~~~ Opp #: N ~~2~~ 979 Obp #:
1~~~ S ~~2~~ ¢752
~21~ E 56 ~6~ &T7654
~21~ 56 ~6~
Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd0 (NS)
3DS3 -110 3DXS-2 500 15.0 1 v JT 5HXW-3 500
MP: 2 3HN-4 400 140 1 + K8432 MP: 16
3NN-3 300 13.0 1 % AK3
# 532 3DXS-1 200 12.0 1 & T9763 a A4
v AK6 2NE2 120 10.0 2 W A9872 v 6543
¢ 73 2NW2 120 100 1 Qe T ¢ QJ
» AT854 3DS-1 100 80 1 W98 » JT762
&N 2CE2 90 7.0 1 IV BN 4K
~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Obp #:
~ ~ ~ ¢ KQJ8542 3NE-1 -100 40 1 @S ~5~~3 ¢ A9765
~12 a32 3NW-1 100 40 1 @E ~~~~~ % Q54
~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
e L e O —
Rd 0 (NS) 2HXW-4 800 16.0 1 # 12 » A9 Rd0 (EW) 4HW4 420 145 4
3NN4 630 3NN5 660 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
MP: 10 3NN4 630 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
3NN3 600 30 5 % 9762 3HW-1 -50 55 1
# 432 2HXW-3 500 0.0 1 @& QJ65 » 832 4HW-1 50 55 9
v T76 v AQ542 I v T86 3DXS3 670 0.0 1
¢ 642 ¢ A72
* J942 * QT84 » AKJ5
& J87 oIVAN
v Obp #: N ~3~~~ »K3 Oop #:
S ~ 3~~~ ¢KJ4
E 3~321 &3
4~321
Rd 0 (EW) 3NN-1 50 155 2g# 13 & KT65 Rd0 (NS) 3DXE-4 1100 15.5 1
3NN-1 50 3Cs4 -130  14.0 1 v AQ432 3HN3 140 3CXE-4 1100 155 1
MP: 15.5 3NN3 -400 125 2 * KJ MP: 11.5 3NS4 630 14.0 1
4SN4 -420 11.0 1 3CXE-2 500 13.0 1
& A95 3NN4 -430 5.5 7 [l Q8432 3HN3 140 115 1
— v AJ3 3NS4 -430 55 3 @v JT9% 2HN3 140 115 1
+ 54 1CXE-2 -500 0.0 1 @eT8 4HN-1 100 6.0 7
% QT865 * 98 3NN-1 100 6.0 1
ry BOVABN 4 A7 3HN-1 100 6.0 1
Obp #: N ~~3~2 vK8 Obp #: 4HXN-1 200 0.5 1
S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ # J654
Rd 0 (NS) 6SW-2 200 150 3 g# 14 « KQT97 Rd0 (EW) 3NS-1 50 155 1
3sw4 -170 6HW-1 100 12.0 1 v KQJ3 3NS4 -430 4HN-1 50 155 1
MP: 10 5SW-1 100 120 1 + Q86 MP: 7 2NS3 -150 14.0 1
4HW-1 100 12.0 1 aT 2SN5 -200 13.0 1
4 J83 3sw4 170 100 1 W+ J2 » A865 3NS3 -400 105 4
v AK5 4SW4 620 7.0 4 Wv A8762 v9 4SN4 -420 8.0 1
+ AJ543 4HW4 620 7.0 1 e J42 ¢ T753 3NS4 430 7.0 1
% Q4 4SW5 650 35 2 s J86 » KQ93 3NS5 460 35 6
3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
Obp #: 5SW6 680 1.0 1@;N ~~332 v T54 Obp #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E ~~~~~ % A7542

ERTR=RE I N=]



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE5 -450 3NW3 -400 145 1
¢ J732 MP: 1.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HES -450 1.5 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS7 -510 4SE-2 -200 15.0 2
¢ A982 MP: 3 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3HN-1 -50 4SW-1 50 135 1
¢ J98 MP: 10 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50  10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F3RHE LB H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

20 ﬂ(ﬁ% My MP:| 154.0 My MP %: 56.62% Rank: 8/34
ﬁﬁj{@ N3W10L7A0T3B0 FMP: 22
— —— - — E——
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd0 (NS) S5HXW-2 300 155 2
v AKQ953 4HN6 480 6DS7 940 13.0 1 v AJ3 3HW3 -140 4HXW-1 100 14.0 1
* K MP: 7.5 6DS6 920 12.0 1 * 96 MP: 6 S5HW-1 50 11.0 1
& AQT 3NN6 490 11.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 5HN6 480 7.5 2 W 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 5CN-2 100 7.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 3HW3 140 6.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (EW) 460 10.5 ##g# 9 & 19 Rd0 (EW) 3NS-2 100 155 2
w» A952 3NE5 460 460 105 1 v 972 5CN6 -420 5CN-1 50 140 1
¢ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 5 3DS3 -110 13.0 1
% T543 5SW5 450 35 1 « AKQT94 4CN4 -130 115 2
. & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3CN6 170 9.0 1
. ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3NS-1 50 2SW2 110 150 1 v AKQJ8763 6NE-7 700 5CXW-1 200 1
KQ MP: 10 3CN-2 100 135 1 + 963 MP: 16 S5HXN-2 -500 1
& AK9852 3DS-2 100 135 1 % 3 5SW6 -680 1
& AK9742 43 3CN-1 50 10.0 3 s QU873 & AK42 5SE6 -680 2
v Q84 v AKT62 3NS-1 50 100 2 @v 42 + v5 4SW6 -680 3
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 @# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 2SW-2 200 15.0 1 v JT 3NS4 -430 4HXE-2 -300 15.0 1
. MP: 15 14.0 1 + K8432 MP: 8.5 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400  12.0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
* % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 Q# 12 & A9 Rd0 (NS) 3DXS3 670 16.0 1
» KQ95 3NN5 -660 130 5 v J7 4HW-1 50 4HW-1 50 105 9
+95 MP: 1 60 9 + QT853 MP: 10.5 3HW-1 50 10.5 1
% Q73 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 0.0 1 We Q65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 2HN3 -140 4HXN-1 200 15.5 1
¢ T7 MP: 10.5 3NN4 430 105 7 * KJ MP: 4.5 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd0 (NS) 3NXS5 750 16.0 1
5SW-1_-100 5SW6 680 15.0 1 v KQJ3 3NS3 400 3NS5 460 125 6
MP: 4 3NE5 660 14.0 1 + Q86 MP: 5.5 3NS4 430 9.0 1
4SW5 650 125 2 & T 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 W@v A8762 v9 2SN5 200 3.0 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 W& J86 » KQ93 4HN-1 50 05 1
5SW-1 100 4.0 1 ¢VAN , 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9
E ~~~~~ & A7542

F39HE L8 HE



. Rd0 (EW 4HES5 450 14.5 4
v K42 3NE4 430 3NE4 430 115 1
¢ J732 MP: 11.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 873 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4SXE-3 800 4HS7 510 13.0 3
¢ A982 MP: 15.5 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 2SW3 140 3HN-3 150 15.0 1
¢ J98 MP: 12.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F40H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

2 1 gljff‘\ My MP:| 121.5 My MP %: 44.67% Rank: 26/34
EETEE N-5W6L11A0T2B2
- e —— - I .
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd0 (EW) 4SXN-3 500 15.5 1
v AKQ953 4HN6 -480 .0 1 v AJ3 4HW-1 -50 5DXS-3 500 155 1
* K MP: 8.5 4HNS -450 135 2 * 96 MP: 5 4HW4 420 135 2
& AQT 3NN5 -460  12.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 4HN6 -480 8.5 4 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 5HN6 -480 8.5 2 M KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 4HW-1 -50 50 4
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & T9 Rd0 (NS) 16.0 1
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3HXW-2 500 14.0 2
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 16 14.0 1
% T543 5SW5 -450 125 1 « AKQT94 11.0 3
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 70 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 70 1
% A98 % 732 » J6 70 1
4 975 B¢ VABN 4 A5 45 2
~ Obp #: N 45~~1 963 Oop #: 3.0 1
S 45~~1 ¢ AKJB4 20 1
E ~~ 1 ~~ %85 05 2
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (EW) 135 6
v J3 3NS-1 50 2SW2 110 150 1 v AKQJ8763 4SW6 680 10.0 1
KQ MP: 10 3CN-2 100 135 1 + 963 MP: 6 6.0 1
& AK9852 3DS-2 100 135 1 % 3 60 3
& AK9742 43 3CN-1 50 10.0 3 s QU873 & AK42 60 2
v Q84 v AKT62 3NS-1 50 100 2 @v 42 + v5 6.0 1
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 20 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 1.0 1
* VAN 4Q85 HOVABN 4T 00 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd0 (NS) 5HXW-3 500 16.0 1
v QT752 3NW-3 -300 3DXS-2 500 15.0 1 v JT 3NS3 400 3NS5 460 120 3
. MP: 0 3HN-4 400 14.0 1 + K8432 MP: 4 3NN5 460 120 4
& KQJ7 3NN-3 300 13.0 1 % AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~ + A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ % Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
L B S ——
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd0 (EW) 4HW4 420 145 4
v KQ95 3NN4 630 3NN5 660 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
+95 MP: 10 3NN4 630 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 3NN3 600 30 5 % 9762 3HW-1 -50 55 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
¢ T7 MP: 5.5 3NN3 -400 125 2 K, MP: 6 3NS4 630 14.0 1
% KJ974 4SN4 -420 11.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o *OVABN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (NS) 15.0 3 g# 14 & KQT97 Rd0 (EW) 3NS-1 50 155 1
6SW-2 200 12.0 1 v KQJ3 3NS5 -460 4HN-1 50 155 1
MP: 15 12.0 1 + Q86 MP: 3.5 2NS3 -150 14.0 1
12.0 1 & T 2SN5 -200 13.0 1
» KQ762 4 J83 10.0 1 Qo J2 & A865 3NS3 -400 105 4
v QU982 v AK5 7.0 4 Qv A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 70 1 We J42 ¢ T753 3NS4 -430 7.0 1
* % Q4 35 2 Was J86 » KQ93 3NS5 -460 35 6
ROIVAN LA 20 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 6! 1.0 1 @IN ~~332 »T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ & A7542

4 H HLBH



. R NS 3NW-2 100 16.0 1
v K42 3NW4 -430 3NW3 -400 145 1
¢ J732 MP: 4.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4SE-3 -300 4SE-2 -200 15.0 2
¢ A982 MP: 13 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW3 -140 4SW-1 50 135 1
¢ J98 MP: 3.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 28W3 -140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FaHE LBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

22 gﬁqﬂ My MP:| 143.0 My MP %: 52.57% Rank: 12/34
WII% N4W10L6A1T1B1 FMP: 14
— — - o ———— e T+ —
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 5HN6 480 6DS7 940 13.0 1 v AJ3 4HW-1 50 4HXW-1 100 14.0 1
* K MP: 7.5 6DS6 920 12.0 1 + 96 MP: 11 5HW-1 50  11.0 1
& AQT 3NN6 490 11.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 4T3 Rd 0 (EW) 3NE5 460 10.5 ##g# 9 & T9 Rd 0 (EW) 3NS-2 100 155 2
v A952 6DE-1 -50 3NW5 460 105 1 v 972 3NN6 -490 5CN-1 50 140 1
+ AT3 MP: 1 4SW5 450 35 1 * Q7 MP: 2 3DS3 -110 13.0 1
& 1543 5SW5 450 35 1 & AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 5DE5 400 2.0 1 Mae73 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 6DE-1 50 1.0 1 @+ AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N ~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763 5HXN-2 -500 5CXW-1_ 200 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 14 5HXN-2 -500 1
& AK9852 3CN-1 50 60 3 %3 5SW6 -680 1
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 -680 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 4SW6 -680 3
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6  -1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3NN-3 300 3DXS-2 500 15.0 1 v JT 3NN5 -460 4HXE-2 -300 15.0 1
. MP: 13 3HN-4 400 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
« KQJ7 3NN-3 300 13.0 1 & AK3 5DS5 -400 12,0 1
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E2~~12 & 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0
#5 & KT95 Rd 0 (EW) 2HXW-3 500 16.0 1 W# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN3 -600 3NN3 -600 130 5 v J7 3HW-1 50 4HW-1 50 10.5 9
* 95 MP: 13 3NN4 -630 6.0 9 + QT853 MP: 10.5 3HW-1 50 105 1
% Q73 3NN5 -660 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-4 -800 0.0 1 e QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 . ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 3HN-1 100 4HXN-1 200 15.5 1
¢ 17 MP: 10.5 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o FOVAN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4SW4 620 5SW6 680 15.0 1 v KQJ3 4HN-1 -50 3NS5 460 125 6
MP: 9 3NE5 660 14.0 1 + Q86 MP: 0.5 3NS4 430 9.0 1
4SW5 650 125 2 aT 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 Wa J2 & A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 @ v A8762 v9 2SN5 200 3.0 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
5SW-1 100 4.0 1 ¢4VaAaN, 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9

E ~~~~~ & A7542

4R HE HLBH



. Rd 0 (E HES 0 .5
v K42 4HE5 450 3NE4 430 115 1
¢ J732 MP: 14.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3SW-1 -50 3HN-3 150 15.0 1
¢ J98 MP: 2.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FaaE HBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

23 %%g My MP:| 143.5 My MP %: 52.76% Rank: 11/34
ﬁf&){% N3W10L7A0T2B2 FMP: 15
— - m— E—
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 4HN6 -480 .0 1 v AJ3 5HXW-2 -300 5DXS-3 500 155 1
* K MP: 8.5 4HNS -450 135 2 * 96 105 4HW4 420 135 2
& AQT 3NN5 -460  12.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 4HN6 -480 8.5 4 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 5HN6 -480 8.5 2 M KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 05 2
#2 4T3 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
w» A952 5SW5 -450 6DE-1 50 15.0 1 v 972 2NN6 240 3NS6 490 140 2
¢ AT3 MP: 12.5 5DE5 -400  14.0 1 * Q7 MP: 9 3NN6 490 140 1
% T543 5SW5 -450 125 1 « AKQT94 5CN6 420 110 3
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2NN6 240 9.0 1
v I v KQJ 3NW5 460 5.5 1 lv AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #itlle 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (EW) 3HE3 140 16.0 1 |g# 10 46 Rd 0 (EW) 135 6
v J3 3DS-2 100 2SW2 110 150 1 v AKQJB763  5CXW-1 -200 10.0 1
KQ MP: 13.5 3CN-2 100 135 1 + 963 MP: 1 6.0 1
& AK9852 3DS-2 100 135 1 % 3 60 3
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 60 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 6.0 1
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 20 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 1.0 1
®eVAN 4Q85 HOVABN 4T 00 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 3NW-1 100 15.0 1 v JT 3NN5 460 3NS5 460 120 3
. MP: 12 14.0 1 + K8432 MP: 12 3NN5 460 120 4
& KQJ7 12.0 1 % AK3 3NS4 430 7.5 2
& AQT9 # 532 12.0 1 4 T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 12.0 1 @ v A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 9.0 1 W+ 98 » JT762 4DS5 150 0.0 1
POV BN o7 8.0 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2@S ~5~~ + A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 W# 12 » A9 Rd 0 (EW) 4HW4 420 145 4
v KQ95 3NN3 -600 130 5 v J7 4HW4 420 2HW4 170 115 1
* 95 MP: 13 60 9 + QT853 MP: 14.5 3HW4 170 115 1
% Q73 1.0 1 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN3 -400 3Cs4 -130  14.0 1 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
¢ 17 MP: 12.5 3NN3 -400 125 2 K, MP: 6 3NS4 630 14.0 1
% KJ974 4SN4 -420 11.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 -430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o *OVABN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (EW) 3NS-1 50 155 1
3NE5 -660 6HW-1 100 12.0 1 v KQJ3 3NS5 -460 4HN-1 50 155 1
MP: 2 5SW-1 100 120 1 + Q86 MP: 3.5 2NS3 -150 14.0 1
4HW-1 100 120 1 & T 2SN5 -200 13.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 -620 7.0 4 @ A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 430 7.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 35 6
ROIVAN LA 3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ % A7542

F45H LB H



. Rd 0 (NS 3NW-2 00 6.0
v K42 3NW-2 100 3NW3 -400 145 1
¢ J732 MP: 16 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4SXE-3 -800 4SE-2 -200 15.0 2
¢ A982 MP: 0.5 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 -510 3.0 3
+ T653 + QJ4 4SXE-3 -800 0.5 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW2 -110 4SW-1 50 135 1
¢ J98 MP: 6.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 28W2 -110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F46H 0 LB H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

24 ﬁﬂ# My MP:| 135.0 My MP %: 49.63% Rank: 18/34
ﬁ.{:ﬁ NOWSLS8A1T3B3
— — - o ———— e T+ —
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 4HN5 450 6DS7 940 13.0 1 v AJ3 4HW4 -420 4HXW-1 100 14.0 1
* K MP: 2.5 6DS6 920 12.0 1 + 96 MP: 2.5 S5HW-1 50 11.0 1
& AQT 3NN6 490 11.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 We AJ ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 5CXN-2  -300 4.0 1
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd 0 (EW) 3NS-2 100 155 2
v A952 3NE5 460 460 105 1 v 972 4CN4 -130 5CN-1 50 140 1
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 11.5 3DS3 -110 13.0 1
& 1543 5SW5 450 35 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N ~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 |g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3HE3 -140 3CN3 110 120 7 v AKQJ8763 6SW6 -1430 5CXW-1 200 1
KQ MP: 0 3NS-1 50 6.0 2 + 963 MP: 2.5 S5HXN-2 -500 1
& AK9852 3CN-1 50 60 3 %3 5SW6 -680 1
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 -680 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 4SW6 -680 3
¢ 42 + 8753 2SW2 -110 1.0 1 e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3HE3 <140 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6 1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 4SXN-4 1100 3DXS-2 500 15.0 1 v JT 3NS3 -400 4HXE-2 -300 15.0 1
. MP: 16 3HN-4 400 14.0 1 + K8432 MP: 12 3NS3 -400 12,0 4
« KQJ7 3NN-3 300 13.0 1 & AK3 5DS5 -400 120 1
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E2~~12 & 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0 L
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 630 3NN5 660 15.0 1 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 10 3NN4 630 10.0 9 + QT853 MP: 10.5 3HW-1 50 105 1
% Q73 3NN3 600 30 5 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 . ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3NS4 -430 3Cs4 -130 140 1 v AQ432 3CXE-4 -1100 4HXN-1 200 15.5 1
¢ 17 MP: 5.5 3NN3 -400 125 2 * KJ MP: 0.5 3HN-1 100 10.0 1
% KJ974 4SN4 -420 110 1 3NN-1 100 10.0 1
& 7643 & A95 3NN4 -430 5.5 7 s Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3NS4 <430 55 3 @v JT96 2HN3 140 45 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o FOVAN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [g# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4DXS-4 1100 5SW6 680 15.0 1 v KQJ3 3NS3 400 3NS5 460 125 6
MP: 16 3NE5 660 14.0 1 + Q86 MP: 5.5 3NS4 430 9.0 1
4SW5 650 125 2 aT 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 W@v A8762 v9 2SN5 200 3.0 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 50 05 1
5SW-1 100 4.0 1 ¢4VaAaN, 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9

E ~~~~~ & A7542

F41H LB H



. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3HN-3 150 3HN-3 150 15.0 1
¢ J98 MP: 15 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F/HE HLBH




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

25 ﬂ(ﬁfﬁ My MP:| 159.0 My MP %: 58.46% Rank: 5/34
%‘)ﬂﬂﬂg N2WIL7A1T4B2 FMP: 38
— — - — —
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6HN-2 100 .0 1 v AJ3 4SXN-3 500 5DXS-3 500 155 1
* K MP: 16 5 2 * 96 MP: 15.5 4HW4 420 135 2
& AQT 20 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 85 4 & A432 5CN-3 150 11.0 1
v T42 v 76 85 2 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 50 1 ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 40 1 *4 5CN-1 50 8.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd 0 (NS) 3HXW-2 500 16.0 1
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 5CN6 420 3NS6 490 140 2
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 11 3NN6 490 14.0 1
% T543 5SW5 -450 125 1 « AKQT94 5CN6 420 11.0 3
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2NN6 240 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (EW) 6SW6 1430 135 6
v J3 3CN3 -110 2SW2 110 150 1 v AKQJ8763 6SW6 1430 7HXN-5 1400 10.0 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: 13.5 4SE6 680 6.0 1
& AK9852 3DS-2 100 135 1 % 3 4SW6 680 6.0 3
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 680 6.0 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 5SW6 680 6.0 1
¢ 42 + 8753 3CN3 <110 4.0 7 @e¢ QJ8 + AK74 5HXN-2 500 2.0 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 5CXW-1 200 1.0 1
VAN 4Q85 B e¢VBN ,T95 6NE-7 -700 0.0 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 2NE2 -120 15.0 1 v JT 3NS3 400 3NS5 460 120 3
. MP: 6 14.0 1 + K8432 MP: 4 3NN5 460 120 4
& KQJ7 12.0 1 % AK3 3NS4 430 75 2
& AQT9 # 532 12.0 1 4 T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 9.0 1 W+ 98 » JT762 4DS5 150 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 W# 12 & A9 Rd 0 (EW) 4HW4 420 145 4
» KQ95 3NN3 -600 130 5 v J7 4HW-1 -50 2HW4 170 115 1
+95 MP: 13 60 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 1.0 1 % 9762 3HW-1 -50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 3DXE-4 1100 3CXE-4 1100 155 1
¢ T7 MP: 10.5 3NN4 430 105 7 * KJ MP: 15.5 3NS4 630 14.0 1
% KJ974 4SN4 420 5.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 115 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o *OVABN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ % J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd 0 (EW) 3NS-1 50 155 1
4SW4 620 5SW6 680 15.0 1 v KQJ3 2NS3 -150 4HN-1 50 155 1
MP: 9 3NE5 660 14.0 1 + Q86 MP: 14 2NS3 -150 14.0 1
4SW5 650 125 2 & T 2SN5 -200 13.0 1
» KQ762 4 J83 4HW4 620 9.0 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 620 9.0 4 @ v A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 3NS4 430 7.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 3NS5 -460 3.5 6
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ & A7542

F49H HL68H



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE5 -450 3NW3 -400 145 1
¢ J732 MP: 1.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HES -450 1.5 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW2 -110 4SW-1 50 135 1
¢ J98 MP: 6.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 28W2 -110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F50H k68 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

26 Ij@@i“ My MP:| 172.0 My MP %: 63.24% Rank: 1/34
%}%% N7W12L5A0T4B1 FMP: 152
— —— - m— E—
# 1 » Q84 Rd 0 (NS) 6HN6 980 15.0 3 # 8 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6HN6 980 6DS7 940 13.0 1 v AJ3 5DXS-3 500 5DXS-3 500 15.5 1
* K MP: 15 6DS6 920 12.0 1 + 96 MP: 15.5 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (EW) 460 10.5 ##g# 9 & T9 Rd 0 (EW) 3NS-2 100 155 2
v A952 3NE5 460 460 105 1 v 972 5CN-1 50 5CN-1 50 14.0 1
+ AT3 MP: 10.5 4SW5 450 35 1 * Q7 MP: 14 3DS3 -110 13.0 1
& 1543 5SW5 450 35 1 & AKQT94 4CN4 -130 115 2
. & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3CN6 170 9.0 1
. ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763 4SW6 -680 5CXW-1 200 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 10 S5HXN-2 -500 1
& AK9852 3CN-1 50 60 3 %3 5SW6 -680 1
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 -680 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 4SW6 -680 3
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
*eVAN 4Q85 * VAN 4T 6SW6  -1430 6
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 2CE2 90 3DXS-2 500 15.0 1 v JT 4DS5 -150 4HXE-2 -300 15.0 1
. MP: 7 3HN-4 400 14.0 1 + K8432 MP: 16 3NS3 -400 12,0 4
« KQJ7 3NN-3 300 13.0 1 & AK3 5DS5 -400 12,0 1
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 3NS5 -460 4.0 3
* % AT854 3DS-1 100 8.0 1 W& 98 » JT762 5HXW-3 -500 0.0 1
FOVABN 7 2CE2 90 70 1 * VBN K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
2SW=2 2200 L0 L
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd 0 (NS) 3DXS3 670 16.0 1
v KQ95 3NN4 630 3NN5 660 15.0 1 v J7 4HW-1 50 4HW-1 50 105 9
* 95 MP: 10 3NN4 630 10.0 9 + QT853 MP: 10.5 3HW-1 50 105 1
% Q73 3NN3 600 30 5 % 9762 3HW4 170 45 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 4HN-1_100 4HXN-1 200 15.5 1
¢ 17 MP: 5.5 3NN3 -400 125 2 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 -420 110 1 3NN-1 100 10.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 45 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o FOVAN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4SW5 -650 6HW-1 100 12.0 1 v KQJ3 3NS5 460 3NS5 460 125 6
MP: 3.5 5SW-1 100 120 1 + Q86 MP: 12.5 3NS4 430 9.0 1
4HW-1 100 120 1 aT 4SN4 420 8.0 1
4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 400 55 4
v AK5 4SW4 -620 7.0 4 @ A8762 v9 2SN5 200 3.0 1
¢ AJ543 4HW4 620 7.0 1 We J42 ¢ T753 2NS3 150 2.0 1
% Q4 4SW5 <650 3.5 2 @s J86 » KQ93 4HN-1 50 05 1
3NE5 -660 2.0 1 ¢4VaAaN, 3NS-1 50 05 1
Obp #: 5SW6 680 1.0 1@;N ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9

E ~~~~~ & A7542

H51H L8 H



. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 3SE-2 200 4HS7 510 13.0 3
¢ A982 MP: 1 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 10 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3SW3 140 3HN-3 150 15.0 1
¢ J98 MP: 12.5 2SW3 140 125 3
& J62 3sw3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F52H k8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

2 7 ?]S'ffﬁ My MP:| 139.0 My MP %: 51.10% Rank: 16 /34
@]5&&7}( NOWSL8A1T2B2
— - — E——
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 4HN6 -480 .0 1 v AJ3 5CN-2 -100 4HXW-1 100 14.0 1
* K MP: 8.5 4HNS -450 135 2 * 96 MP: 7 S5HW-1 50 11.0 1
& AQT 3NN5 -460  12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 4HN6 -480 8.5 4 e 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 5HN6 -480 8.5 2 M KQ975 v T8642 5CN-2 100 7.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 6DS6 -920 4.0 1 @& A97 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd 0 (EW) 3NS-2 100 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 5CN6 -420 5CN-1 50 140 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 5 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2DS6 170 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3DS6 170 9.0 1
% A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (EW) 135 6
v J3 3CN-1 50 2SW2 110 150 1 v AKQJ8763 6SW6 1430 10.0 1
KQ MP: 10 3CN-2 100 135 1 + 963 MP: 13.5 6.0 1
& AK9852 3DS-2 100 135 1 % 3 60 3
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 60 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 6.0 1
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 20 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 1.0 1
P ¢ VAN 4Q8 o OVBN ,T95 00 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (NS) 5HXW-3 500 16.0 1
v QT752 2NW2 -120 15.0 1 v JT 3NS3 400 3NS5 460 120 3
. MP: 6 14.0 1 + K8432 MP: 4 3NN5 460 120 4
& KQJ7 12.0 1 % AK3 3NS4 430 75 2
& AQT9 # 532 12.0 1 4 T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 9.0 1 W+ 98 » JT762 4DS5 150 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 W# 12 & A9 Rd 0 (EW) 4HW4 420 145 4
» KQ95 3NN3 -600 130 5 v J7 4HW4 420 2HW4 170 115 1
+95 MP: 13 60 9 + QT853 MP: 14.5 3HW4 170 115 1
% Q73 1.0 1 % 9762 3HW-1 50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN3 400 3NS4 430 105 3 v AQ432 3CXE-2 500 3CXE-4 1100 155 1
¢ T7 MP: 3.5 3NN4 430 105 7 * KJ MP: 13 3NS4 630 14.0 1
% KJ974 4SN4 420 5.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 115 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o *OVABN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ % J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd 0 (EW) 3NS-1 50 155 1
6SW-2 -200 5SW6 680 15.0 1 v KQJ3 3NS5 -460 4HN-1 50 155 1
MP: 1 3NE5 660 14.0 1 + Q86 MP: 3.5 2NS3 -150 14.0 1
4SW5 650 125 2 & T 2SN5 -200 13.0 1
» KQ762 4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 620 9.0 4 W@v A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 3NS4 -430 7.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 3NS5 -460 35 6
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @N ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ & A7542

F3HE L8 H



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 2SW-1 50 4SW-1 50 135 1
¢ J98 MP: 13.5 3SW-1 50 13.5 2
& J62 2sW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F54HE S8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

28 ;ify‘;ﬁ(f@ My MP:| 118.5 My MP %: 43.57% Rank: 29/34
E%g N-6W5L11A1T3B1
— —— - — E—
# 1 » Q84 Rd 0 (NS) 6HN6 980 150 3 # 8 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6HN-1 -50 6DS7 940 13.0 1 v AJ3 4HXW-1 -100 5DXS-3 500 155 1
* K MP: 1 6DS6 920 12.0 1 * 96 MP: 2 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 @e AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 W& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Obp #: 6HN-2 100 00 1@N 31~~~ w Oop #: 5HW-1 -50 5.0 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 & 13 Rd 0 (EW) 3NE5 460 10.5 ##g# 9 & 19 Rd 0 (NS) 3HXW-2 500 16.0 1
w» A952 4SW5 450 3NW5 460 105 1 v 972 2Ds6 170 3NS6 490 140 2
¢ AT3 MP: 3.5 4SW5 450 35 1 * Q7 MP: 7 3NN6 490 140 1
% T543 5SW5 450 35 1 « AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v38 I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
* % A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
N Obp #: N 45~~1 963 Obp #: 3DS3 110 3.0 1
S S 45~~1 eAKJ64 5CN-1 50 2.0 1
E E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 & JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (EW) 6SW6 1430 135 6
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763 6SW6 1430 7HXN-5 1400 10.0 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 13.5 4SE6 680 6.0 1
& AK9852 3CN-1 50 60 3 % 3 4SW6 680 6.0 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 680 6.0 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 5SW6 680 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 5HXN-2 500 2.0 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 5CXW-1 200 1.0 1
VAN 4Q85 B e¢VBN ,T95 6NE-7 -700 0.0 1
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3SwW-1 -100 15.0 1 v JT 3NN5 -460 4HXE-2 -300 15.0 1
. MP: 4 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
& KQJ7 13.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 79763 » Ad 3NS4 -430 85 2
v J93 + v AK6 10.0 2 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 80 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 70 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 40 1S ~5~~3 ¢A9765
E 2~~12 832 40 1 M@E ~~~~~ « Q54
2~~12 40 1 gV ~~~~~
8
#5 & KT95 Rd 0 (NS) 16.0 1 g# 12 & A9 Rd 0 (NS) 3DXS3 670 16.0 1
» KQ95 2HXW-4 800 15.0 1 v J7 3HW4 -170 4HW-1 50 105 9
+95 MP: 16 10.0 9 + QT853 MP: 4.5 3HW-1 50 10.5 1
% Q73 30 5 % 9762 3HW4 170 45 1
& AQ6 # 432 0.0 1 e QG5 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3NN4 -430 3Cs4 -130 140 1 v AQ432 4HN-2 200 4HXN-1 200 15.5 1
¢ T7 MP: 5.5 3NN3 -400 125 2 * KJ MP: 15.5 3HN-1 100 10.0 1
% KJ974 4SN4 -420 11.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN4 <430 5.5 7 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 45 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ % J654
Rd 0 (NS) 6SW-2 200 15.0 3 W# 14 & KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
6HW-1 100 6HW-1 100 12.0 1 v KQJ3 4SN4 420 3NS5 460 125 6
MP: 12 5SW-1 100 120 1 + Q86 MP: 8 3NS4 430 9.0 1
4HW-1 100 120 1 & T 4SN4 420 8.0 1
4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 400 55 4
v AK5 4SW4 -620 7.0 4 @ A8762 v9 2SN5 200 3.0 1
¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 2NS3 150 2.0 1
% Q4 4SW5 -650 3.5 2 W& J86 » KQ93 4HN-1 50 05 1
3NE5 -660 2.0 1 FOVAN 4 3NS-1 50 05 1
Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E ~~~~~ & A7542

H55H L8 H



. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4SE-2 200 4HS7 510 13.0 3
¢ A982 MP: 1 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 10 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3SW-1 -50 3HN-3 150 15.0 1
¢ J98 MP: 2.5 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F56H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

29 ﬁ;?ﬁﬁE My MP:| 131.0 My MP %: 48.16% Rank: 22/34
Eﬂ%lﬁ N-1W8L9A0TO0B2
— - — E——
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 6HN6 -980 .0 1 v AJ3 5CN-3 -150 4HXW-1 100 14.0 1
* K MP: 1 5 2 * 96 MP: 5 S5HW-1 50 11.0 1
& AQT 20 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 85 4 & A432 5CN-1 -50 8.0 1
v T42 v 76 85 2 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 50 1 ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 40 1 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HNG6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd 0 (EW) 3NS-2 100 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3NS6 -490 5CN-1 50 140 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 2 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2DS6 170 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3DS6 170 9.0 1
% A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 3CN3 -110 2SW2 110 150 1 v AKQJ8763 5SE6 -680 5CXW-1 200 15.0 1
KQ MP: 4 3CN-2 100 135 1 + 963 MP: 10 5HXN-2 -500 14.0 1
& AK9852 3DS-2 100 135 1 % 3 5SW6 -680 10.0 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3NS-1 50 100 2 Ww 42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 3CN3 <110 4.0 7 @e¢ QJ8 + AK74 4SE6 -680 10.0 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 25 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3DXS-1 -200 15.0 1 v JT 5DS5 -400 4HXE-2 -300 15.0 1
. MP: 4 14.0 1 + K8432 MP: 12 3NS3 -400 12.0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 <430 85 2
v J93 + v AK6 12.0 1 Qv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 @S ~5~~ + A9765
E 2~~12 832 40 1 QE ~~~~~ « Q54
2~~12 30 1gQW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 W# 12 & A9 Rd 0 (EW) 4HW4 420 145 4
» KQ95 3NN3 -600 130 5 v J7 4HW-1 -50 2HW4 170 115 1
+95 MP: 13 60 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 1.0 1 % 9762 3HW-1 -50 55 1
& AQ6 # 432 0.0 1 e QG5 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NN4 430 3NS4 430 105 3 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
¢ T7 MP: 10.5 3NN4 430 105 7 K, MP: 6 3NS4 630 14.0 1
% KJ974 4SN4 420 5.0 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 115 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 4HN-1 100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o *OVABN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ % J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd 0 (EW) 3NS-1 50 155 1
4SW4 620 5SW6 680 15.0 1 v KQJ3 3NS5 -460 4HN-1 50 155 1
MP: 9 3NE5 660 14.0 1 + Q86 MP: 3.5 2NS3 -150 14.0 1
4SW5 650 125 2 & T 2SN5 -200 13.0 1
» KQ762 4 J83 4HW4 620 9.0 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 620 9.0 4 @ v A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 3NS4 -430 7.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 3NS5 -460 35 6
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ & A7542

ERTR=RE I N=]



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 3NW3 -400 3NW3 -400 145 1
¢ J732 MP: 14.5 3NE3 -400 145 1
& T53 4HW4 -420 95 1
s 4 4HE4 -420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS5 -450 4SE-2 -200 15.0 2
¢ A982 MP: 12 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 4SW-1 50 4SW-1 50 135 1
¢ J98 MP: 13.5 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

F8HE 8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

30 gﬁ%}g My MP:| 142.0 My MP %: 52.21% Rank: 14/34
%E% N2W8L6A3T1B1 FMP: 12
— — —— - — E—
# 1 » Q84 Rd 0 (NS) .0 3 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 6DS6 920 .0 1 v AJ3 5CN-1 50 5DXS-3 500 155 1
*K MP: 12 0 1 + 96 MP: 8 4HW4 420 135 2
& AQT .0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 75 2 & A432 5CN-3 150 11.0 1
v T42 v 76 75 4 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 40 1 ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 25 2 *4 5CN-1 50 80 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (EW) 3NE5 460 10.5 ##g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 5DE5 400 3NW5 460 105 1 v 972 3NS-2 -100 3NS6 490 140 2
+ AT3 MP: 2 4SW5 450 35 1 * Q7 MP: 0.5 3NN6 490 140 1
& 1543 5SW5 450 35 1 & AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Qe 73 » KQ864 2NN6 240 9.0 1
v I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 -50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (EW) 6SW6 1430 135 6
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763 6SW6 1430 7HXN-5 1400 10.0 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 13.5 4SE6 680 6.0 1
& AK9852 3CN-1 50 60 3 %3 4SW6 680 6.0 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 680 6.0 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 5SW6 680 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 5HXN-2 500 2.0 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 5CXW-1 200 1.0 1
ROV AN Q85 VBN 4,795 6NE-7 -700 0.0 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) S5HXW-3 500 16.0 1
v QT752 2NE2 120 3DXS-2 500 15.0 1 v JT 3NS5 460 3NS5 460 120 3
. MP: 10 3HN-4 400 14.0 1 + K8432 MP: 12 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 W& T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 Qv A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 @e T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
L B S ——
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd 0 (EW) 4HW4 420 145 4
v KQ95 3NN4 630 3NN5 660 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
* 95 MP: 10 3NN4 630 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 3NN3 600 30 5 % 9762 3HW-1 -50 55 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 W# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 3CS4 -130 3Cs4 -130 140 1 v AQ432 4HN-1_100 4HXN-1 200 15.5 1
¢ 17 MP: 14 3NN3 -400 125 2 * KJ MP: 10 3HN-1 100 10.0 1
» KJ974 4SN4 -420 110 1 3NN-1 100 10.0 1
& 7643 & A95 3NN4 -430 5.5 7 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 45 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o FOVAN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (NS) 3NXS5 750 16.0 1
4HW4 -620 6HW-1 100 12.0 1 v KQJ3 2SN5 200 3NS5 460 125 6
MP: 7 5SW-1 100 120 1 + Q86 MP: 3 3NS4 430 9.0 1
4HW-1 100 120 1 aT 4SN4 420 8.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 400 55 4
v QU982 v AK5 4SW4 -620 7.0 4 W A8762 v9 2SN5 200 3.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 2NS3 150 2.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 4HN-1 50 05 1
ROIVAN LA 3NE5 -660 2.0 1 FOVAN 4 3NS-1 50 05 1
N ~~~~~ Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ % A7542

F9HE LB HE



. Rd 0 (E 4HES5 450 145 4
v K42 4HW4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4HS6 480 4HS7 510 13.0 3
¢ A982 MP: 8 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 1.0 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 4HN-2 100 3HN-3 150 15.0 1
¢ J98 MP: 8 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 2SW2 110 95 2
v KJ7 v 95 4HN-2 100 80 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

60 H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

3 1 ?FF,E{E& My MP:| 142.0 My MP %: 52.21% Rank: 13/34
5‘5&%@ N2WIL7A1T1B3 FMP: 13
— - — E——
# 1 » Q84 Rd 0 (EW) .0 1  QJ85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 6HN6 -980 .0 1 v AJ3 4HW-1 50 4HXW-1 100 14.0 1
* K MP: 1 5 2 * 96 MP: 11 5HW-1 50  11.0 1
& AQT 20 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 85 4 & A432 5CN-1 -50 8.0 1
v T42 v 76 85 2 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 50 1 ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 40 1 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Opp # 6HNG6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd 0 (EW) 3NS-2 100 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 3CN6 -170 5CN-1 50 140 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 9 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2DS6 -170 9.0 1
v I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3DS6 170 9.0 1
% A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S 45~~1 ¢ AKJB4 3NS6 490 2.0 2
E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 @# 10 46 Rd 0 (NS) 6NE-7 700 16.0 1
v J3 2sW2 110 2SW2 110 15.0 1 v AKQJ8763 4SW6 -680 5CXW-1 200 15.0 1
KQ MP: 15 3CN-2 100 135 1 + 963 MP: 10 5HXN-2 -500 14.0 1
& AK9852 3DS-2 100 135 1 % 3 5SW6 -680 10.0 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 10.0 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 4SW6 -680 10.0 3
¢ 42 + 8753 3CN3 110 4.0 7 e QJ8 + AK74 4SE6 -680 10.0 1
* 76 % QT3 3CN4 -130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 6.0 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 25 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 3NE-1 100 15.0 1 v JT 3NN5 -460 4HXE-2 -300 15.0 1
. MP: 12 14.0 1 + K8432 MP: 4 3NS3 -400 12,0 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 W& T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 j v A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 QWeT ¢ Q 3NS5 -460 4.0 3
» 96 % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ « Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 Q# 12 & A9 Rd 0 (NS) 3DXS3 670 16.0 1
» KQ95 3NN4 -630 130 5 v J7 4HW4 -420 4HW-1 50 105 9
+95 MP: 6 60 9 + QT853 MP: 1.5 3HW-1 50 105 1
% Q73 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 0.0 1 e QG5 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd 0 (EW) 4HN-2 200 155 1
v KQ 4SN4 420 3NS4 430 105 3 v AQ432 4HN-1_100 4HXN-1 200 15.5 1
¢ T7 MP: 5 3NN4 430 105 7 * KJ MP: 10 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 WeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ - E ~~~~~ % J654
#7 Rd 0 (EW) 4DXS-4 1100 16.0 1 W# 14 & KQT97 Rd 0 (EW) 3NS-1 50 155 1
5SW6 680 5SW6 680 15.0 1 v KQJ3 3NS5 -460 4HN-1 50 155 1
MP: 15 3NE5 660 14.0 1 + Q86 MP: 3.5 2NS3 -150 14.0 1
4SW5 650 125 2 & T 2SN5 -200 13.0 1
» KQ762 4 J83 4HW4 620 9.0 1 We J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 620 9.0 4 W@v A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 3NS4 -430 7.0 1
* % Q4 4HW-1 100 4.0 1 @ J86 » KQ93 3NS5 -460 35 6
ROIVAN LA 5SW-1 100 4.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
S ~~~~~ 6SW-2 200 1.0 3 @S ~~332 ¢AK9
E E ~~~~~ & A7542

ol H - L8 EH



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3HN3 140 4SW-1 50 135 1
¢ J98 MP: 16 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50 10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

Fo2H L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

32 ﬂ&%ﬂﬁ My MP:| 152.0 My MP %: 55.88% Rank: 10/34
@”ﬁﬁg N5W11L6A0T3B3 FMP: 17
— —— - — E—
# 1 » Q84 Rd 0 (NS) .0 3 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 4HN5 450 0 1 v AJ3 4HW4 420 5DXS-3 500 15.5 1
*K MP: 2.5 6DS6 920 12.0 1 + 96 MP: 13.5 4HW4 420 135 2
& AQT 3NN6 490 11.0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 5HN6 480 7.5 2 e 976 & A432 5CN-3 150 11.0 1
v T42 v 76 4HN6 480 7.5 4 @v KQ975 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 3NN5 460 4.0 1 We AJ ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 4HNS 450 2.5 2 @& A97 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 50 50 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: S5HW-1 -50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (EW) 3NE5 460 10.5 ##Q# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 3NW5 460 3NW5 460 105 1 v 972 3NS6 490 3NS6 490 140 2
+ AT3 MP: 10.5 4SW5 450 3.5 1 * Q7 MP: 14 3NN6 490 140 1
& 1543 5SW5 450 35 1 & AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v I v KQJ 6DE-1 -50 1.0 1 @v AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 @# 10 46 Rd 0 (EW) 6SW6 1430 135 6
v J3 3CN3 110 3CN3 110 120 7 v AKQJ8763  THXN-5 1400 7HXN-5 1400 10.0 1
KQ MP: 12 3NS-1 50 6.0 2 + 963 MP: 10 4SE6 680 6.0 1
& AK9852 3CN-1 50 60 3 %3 4SW6 680 6.0 3
& AK9742 43 3DS-2 100 25 1 Qe QJ873 & AK42 5SE6 680 6.0 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 5SW6 680 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 5HXN-2 500 2.0 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 5CXW-1 200 1.0 1
ROV AN Q85 VBN 4,795 6NE-7 -700 0.0 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) S5HXW-3 500 16.0 1
v QT752 3HN-4 400 3DXS-2 500 15.0 1 v JT 3NS5 460 3NS5 460 120 3
. MP: 14 3HN-4 400 14.0 1 + K8432 MP: 12 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 Qe T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 80 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 %o ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~ + A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
L B
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd 0 (EW) 4HW4 420 145 4
v KQ95 3NN4 630 3NN5 660 15.0 1 v J7 4HW4 420 2HW4 170 115 1
* 95 MP: 10 3NN4 630 10.0 9 + QT853 MP: 14.5 3HW4 170 115 1
% Q73 3NN3 600 30 5 % 9762 3HW-1 50 55 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 1CXE-2 -500 3Cs4 -130 140 1 v AQ432 3NS4 630 3CXE-4 1100 15.5 1
¢ 17 MP: 0 3NN3 -400 125 2 * KJ MP: 14 3NS4 630 14.0 1
» KJ974 4SN4 -420 110 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 -430 5.5 7 e Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 -430 55 3 Mv JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 Qe T8 4HN-1 -100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (EW) 3NS-1 50 155 1
4SW5 -650 6HW-1 100 12.0 1 v KQJ3 3NXS5 -750 4HN-1 50 155 1
MP: 3.5 5SW-1 100 120 1 + Q86 MP: 0 2NS3 -150 14.0 1
4HW-1 100 120 1 aT 2SN5 -200 13.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 -620 7.0 4 @ A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 4HW4 620 7.0 1 We J42 ¢ T753 3NS4 430 7.0 1
* % Q4 4SW5 <650 3.5 2 @s J86 » KQ93 3NS5 -460 3.5 6
ROIVAN LA 3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ % A7542

F63HE L8 H



. Rd 0 (E HES 0 .5
v K42 4HE5 450 3NE4 430 115 1
¢ J732 MP: 14.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (NS) 4SXE-3 800 155 2
v Q43 4SE-2 200 4HS7 510 13.0 3
¢ A982 MP: 1 4HS6 480 8.0 7
& AJT9 4HS5 450 40 1
& QT952 » AJB64 4SE-3 300 3.0 1
v 75 — v KT 4SE-2 200 10 2
+ T653 + QJ4 3SE-2 200 1.0 1
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (EW) 2SW4 170 16.0 1
v AQ862 3HN-1 50 3HN-3 150 15.0 1
¢ J98 MP: 6 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FodH L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

33 ﬁ‘ﬁ%ﬁfﬁ My MP:| 121.5 My MP %: 44.67% Rank: 25/34
%F&‘]‘E N-1W8L9A0T1B4
— — - o ———— e T+ —
# 1 » Q84 Rd 0 (EW) 6HN-2 100 16.0 1 [g# 8 & QU85 Rd 0 (NS) S5HXW-2 300 155 2
v AKQ953 6DS7 -940 6HN-1 50 15.0 1 v AJ3 4HW-1 50 4HXW-1 100 14.0 1
* K MP: 3 4HNS -450 135 2 * 96 MP: 11 5HW-1 50  11.0 1
& AQT 3NN5 -460 12.0 1 % J853 4HW-1 50 11.0 4
& JT6 # AK7532 4HN6 -480 8.5 4 W 976 & A432 5CN-1 -50 8.0 1
v T42 v 76 5HN6 -480 8.5 2 v KQ975 v T8642 5CN-2 -100 7.0 1
¢ 9632 ¢ 84 3NN6 -490 5.0 1 e A ¢ Q72 3HW3 -140 6.0 1
* 763 % K54 6DS6 -920 4.0 1 W& A97 *4 5CN-3 150 5.0 1
*OIVAN 6DS7 -940 3.0 1 FOVAN o 5CXN-2 -300 4.0 1
N 565~5 »J8 Obp #: 6HN6 980 1.0 3 @N 31~~~ » Oop #: 4HW4 420 25 2
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 5DXS-3 -500 0.5 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 4SXN-3 -500 0.5 1
#2 & 13 Rd 0 (NS) 6CW-2 100 160 1 g# 9 & 19 Rd0 (EW) 3NS-2 100 155 2
w» A952 3NE5 -460 6DE-1 50 15.0 1 v 972 4CN4 130 5CN-1 50 140 1
¢ AT3 MP: 5.5 5DE5 -400 14.0 1 * Q7 MP: 11.5 3DS3 -110 13.0 1
% T543 5SW5 -450 125 1 « AKQT94 4CN4 -130 115 2
» KJo64 & AQ8 4SW5 -450 125 1 @a 73 » KQ864 2DS6 170 9.0 1
v38 I v KQJ 3NW5 460 5.5 1 M AQJ854 v KT 3CN6 170 9.0 1
+ KJ65 ¢ Q972 3NE5 -460 5.5 #it|g e 83 ¢ T952 3DS6 170 9.0 1
* % A98 % 732 » J6 2NN6 240 7.0 1
2975 B¢V BN A5 5CN6 -420 5.0 3
N ~ Obp #: N 45~~1 963 Oop #: 3NN6 490 2.0 1
S S 45~~1 eAKJ64 3NS6 490 2.0 2
E E ~~ 1 ~~ %85 3HXW-2 -500 0.0 1
#3 & JT6 Rd 0 (EW) 3HE3 140 16.0 1 [g# 10 46 Rd 0 (NS) 6NE-7 700 1
v J3 3CN4 -130 2SW2 110 150 1 v AKQJ8763 5SE6 -680 5CXW-1 200 1
KQ MP: 0 3CN-2 100 135 1 + 963 MP: 10 S5HXN-2 -500 1
& AK9852 3DS-2 100 135 1 % 3 5SW6 -680 1
& AK9742 43 3CN-1 50 10.0 3 e QU873 & AK42 5SE6 -680 2
v Q84 v AKT62 3NS-1 50 100 2 @w 42 + v5 4SW6 -680 3
¢ 42 + 8753 3CN3 -110 4.0 7 @e QJ8 + AK74 4SE6 -680 1
* 76 % QT3 3CN4 <130 0.0 1 @& A92 » KQJ8 7HXN-5 -1400 1
VAN 4Q85 B e¢VBN ,T95 6SW6  -1430 6
N 11~~~ 9975 Obp #: N ~~2~~ 79 Oop #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (NS) 16.0 1 g# 11 & QJ8 Rd 0 (EW) 4DS5 -150 16.0 1
v QT752 2DS2 90 15.0 1 v JT 4HXE-2 -300 4HXE-2 -300 15.0 1
. MP: 10 14.0 1 + K8432 MP: 15 3NS3 -400 120 4
& KQJ7 12.0 1 % AK3 5DS5 -400 12,0 1
& AQT9 # 532 12.0 1 4 T9763 » Ad 3NS4 -430 85 2
v J93 + v AK6 12.0 1 Wv A9872 v 6543 3NN5 -460 4.0 4
+ AT96 ¢ 73 100 1 We T ¢ Q 3NS5 -460 4.0 3
* % AT854 9.0 1 W+ 98 » JT762 5HXW-3 -500 0.0 1
POV BN o7 8.0 1 Fo ¢ VBN K5
N ~1~~~ 984 Obp #: 60 18N ~5~~3 vKQ Oop #:
S ~ 1~~~ ¢KQJg542 60 2 WS ~5~~3 ¢ A9765
E 2~~12 832 40 1 gE ~~~~~ % Q54
2~~12 30 1 QW ~~~~~
s
#5 & KT95 Rd 0 (EW) 16.0 1 Q# 12 & A9 Rd0 (NS) 3DXS3 670 16.0 1
» KQ95 3NN4 -630 130 5 v J7 2HW4 -170 4HW-1 50 105 9
+95 MP: 6 60 9 + QT853 MP: 4.5 3HW-1 50 105 1
% Q73 1.0 1 % 9762 3HW4 170 45 1
& AQ6 # 432 0.0 1 e QG5 & 832 2HW4 170 45 1
v AJ842 v T76 v AQ542 I v T86 4HW4 420 15 4
¢ KT3 + 642 . ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & KT82 Rd 0 (NS) 1CXE-2 500 16.0 1 @# 13 & KT65 Rd0 (EW) 4HN-2 200 155 1
v KQ 3NN-1 -50 3NS4 430 105 3 v AQ432 4HXN-1 200 4HXN-1 200 15.5 1
¢ T7 MP: 0.5 3NN4 430 105 7 * KJ MP: 15.5 3HN-1 100 10.0 1
% KJ974 4SN4 420 5.0 1 3NN-1 100 10.0 1
& 7643 & A95 3NN3 400 3.5 2 e Q8432 N 4HN-1 100 10.0 7
v T852 — v AJ3 3Cs4 130 2.0 1 W JT96 2HN3 140 45 1
+ Q93 + 54 3NN-1 50 05 2 QeT8 3HN3 140 45 1
» 32 % QT865 % 98 3CXE-2 -500 3.0 1
*OVAN o *OVABN A7 3NS4 -630 2.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 wK87 Oop #: 3CXE-4 -1100 0.5 1
S ~4 ~~2 ¢ AKJBE2 S ~~3~2 ¢Q953 3DXE-4 -1100 0.5 1
E ~~~~~ & A E ~~~~~ & J654
Rd 0 (EW) 4DXS-4 1100 16.0 1 [# 14 & KQT97 Rd0 (NS) 3NXS5 750 16.0 1
4SW4 620 5SW6 680 15.0 1 v KQJ3 3NS-1 -50 3NS5 460 125 6
MP: 9 3NE5 660 14.0 1 + Q86 MP: 0.5 3NS4 430 9.0 1
4SW5 650 125 2 & T 4SN4 420 8.0 1
4 J83 4HW4 620 9.0 1 Wa J2 & A865 3NS3 400 55 4
v AK5 4SW4 620 9.0 4 @ v A8762 v9 2SN5 200 3.0 1
¢ AJ543 3sw4 170 6.0 1 e J42 ¢ T753 2NS3 150 2.0 1
% Q4 4HW-1 100 4.0 1 @ J86 » KQ93 4HN-1 -50 05 1
5SW-1 100 4.0 1 ¢VAN , 3NS-1 50 05 1
Obp #: 6HW-1 100 40 1 @IN ~~332 v T54 Oop #:
6SW-2 200 1.0 3 @S ~~332 ¢AK9

E ~~~~~ & A7542

FosH L8 H



. Rd 0 (E 4HES5 450 145 4
v K42 4HE4 420 3NE4 430 115 1
¢ J732 MP: 6.5 3NW4 430 115 1
& T53 4HE4 420 65 7
s 4 4HW4 420 65 1
v JT983 3NE3 400 15 1
¢ ATS 3NW3 400 1.5 1
& AQ92 3NW-2 100 0.0 1
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS7 -510 4SE-2 -200 15.0 2
¢ A982 MP: 3 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd 0 (NS) 3HN3 140 16.0 1
v AQ862 3HN-1 -50 4SW-1 50 135 1
¢ J98 MP: 10 3SW-1 50 135 2
& J62 2SW-1 50 135 1
& JT9872 & K3 3HN-1 -50  10.0 3
v KJ7 v 95 4HN-2 -100 8.0 1
* K ¢ 76542 2SW2 110 65 2
& A87 & KQT3 3SW3 -140 3.5 1
o eVABN 4A64 2SW3 140 35 3
N ~22~1 #T43 Opp #: 3HN-3 150 1.0 1
S ~22~1 ¢AQT3 25W4 170 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

o6 H - L8 H




M EELESHEAE

#1: 26-FXEE BEEOR (63.2%) #2: 11-PRERG YiaE (59.6%) #3: 18-MEE BEE (59%)

34 gﬁijﬁ My MP:| 138.5 My MP %: 50.92% Rank: 17134
ﬁlﬁ% N-1W7L8A2T2B1
— — —— - — E—
# 1 » Q84 Rd 0 (NS) .0 3 & QU85 Rd 0 (EW) 4SXN-3 500 15.5 1
v AKQ953 3NN5 460 0 1 v AJ3 5HW-1 -50 5DXS-3 500 155 1
*K MP: 4 .0 1 + 96 MP: 5 4HW4 420 135 2
& AQT .0 1 % J853 5CXN-2 300 12.0 1
& JT6 # AK7532 75 2 & A432 5CN-3 150 11.0 1
v T42 v 76 75 4 v T8642 3HW3 140 10.0 1
¢ 9632 ¢ 84 40 1 ¢ Q72 5CN-2 100 9.0 1
* 763 % K54 25 2 *4 5CN-1 50 8.0 1
*OIVAN 6HN-1 50 1.0 1 FOVAN o 4HW-1 -50 5.0 4
N 565~5 »J8 Opp # 6HN-2 100 00 1@N 31~~~ w Oop #: 5HW-1 50 50 1
S 565~1 ¢AQT75 S 31~~~ ¢KT8543 4HXW-1 100 2.0 1
E ~~~~~ % J982 E ~~ g 1 ~ & KQT62 5HXW-2 -300 0.5 2
#2 4T3 Rd 0 (EW) 3NE5 460 10.5 ##g# 9 & T9 Rd 0 (NS) 3HXW-2 500 16.0 1
v A952 6CW-2 -100 3NW5 460 105 1 v 972 3Ds6 170 3NS6 490 140 2
+ AT3 MP: 0 4SW5 450 35 1 * Q7 MP: 7 3NN6 490 140 1
& 1543 5SW5 450 35 1 & AKQT94 5CN6 420 110 3
» KJo64 & AQ8 5DE5 400 2.0 1 Q@e73 » KQ864 2NN6 240 9.0 1
v I v KQJ 6DE-1 -50 1.0 1 Mv AQJ854 v KT 3DS6 170 7.0 1
+ KJ65 ¢ Q972 6CW-2 -100 0.0 1 ¢ 83 ¢ T952 3CN6 170 7.0 1
% A98 % 732 » J6 2DS6 170 7.0 1
2975 B¢V BN A5 4CN4 130 45 2
~ Obp #: N 45~~1 963 Oop #: 3DS3 110 3.0 1
S 45~~1 ¢ AKJB4 5CN-1 50 2.0 1
E ~~ 1 ~~ %85 3NS-2 100 05 2
#3 « JT6 Rd 0 (NS) 3CN4 130 16.0 1 |g# 10 46 Rd 0 (EW) 6SW6 1430 135 6
v J3 3CN-1 -50 3CN3 110 120 7 v AKQJ8763 6SW6 1430 7HXN-5 1400 10.0 1
KQ MP: 6 3NS-1 -50 6.0 2 + 963 MP: 13.5 4SE6 680 6.0 1
& AK9852 3CN-1 50 6.0 3 %3 4SW6 680 6.0 3
& AK9742 43 3DS-2 100 25 1 e QJ873 & AK42 5SE6 680 6.0 2
v Q84 v AKT62 3CN-2 100 25 1 Qw42 + v5 5SW6 680 6.0 1
¢ 42 + 8753 2SW2 110 1.0 1 e QJ8 + AK74 5HXN-2 500 2.0 1
* 76 % QT3 3HE3 -140 0.0 1 @& A92 » KQJ8 5CXW-1 200 1.0 1
ROV AN Q85 VBN 4,795 6NE-7 -700 0.0 1
N 11~~~ 9975 Opp #: N ~~2~~ 979 Obp #:
S 11~~~ ¢AJT% S ~~2~~ ¢752
E ~~21~ aJ4 E 56 ~6~ & T7654
~~21~ 56 ~6~
#4 » KJ84 Rd 0 (EW) 4SXN-4 1100 16.0 1 [# 11 & QJ8 Rd 0 (NS) S5HXW-3 500 16.0 1
v QT752 3DS-1 100 3DXS-2 500 15.0 1 v JT 3NS5 460 3NS5 460 120 3
. MP: 8 3HN-4 400 14.0 1 + K8432 MP: 12 3NN5 460 120 4
« KQJ7 3NN-3 300 13.0 1 & AK3 3NS4 430 75 2
& AQT9 # 532 3DXS-1 200 12.0 1 Qe T9763 » Ad 5DS5 400 4.0 1
v J93 + v AK6 2NE2 120 10.0 2 W A9872 v 6543 3NS3 400 4.0 4
+ AT96 ¢ 73 2NW2 120 100 1 We T ¢ Q 4HXE-2 300 1.0 1
» 96 % AT854 3DS-1 100 8.0 1 @98 » JT762 4DS5 150 0.0 1
POV BN o7 2CE2 90 70 1 ¢ VBN 4 K5
N ~1~~~ 984 Obp #: 2DS2 90 60 1f@N ~5~~3 »KQ Oop #:
S ~ 1~~~ ¢KQJ8542 3NE-1 100 40 1 @S ~5~~3 ¢ A9765
E 2~~12 832 3NW-1 100 40 1 @E ~~~~~ « Q54
2~~12 3SW-1 100 40 1 @W ~~~~~
3DS3 110 2.0 1
L B S ——
#5 & KT95 Rd 0 (NS) 2HXW-4 800 16.0 1 Q# 12 » A9 Rd 0 (EW) 4HW4 420 145 4
v KQ95 3NN4 630 3NN5 660 15.0 1 v J7 4HW-1 -50 2HW4 170 115 1
* 95 MP: 10 3NN4 630 10.0 9 + QT853 MP: 5.5 3HW4 170 115 1
% Q73 3NN3 600 30 5 % 9762 3HW-1 -50 55 1
& AQ6 # 432 2HXW-3 500 0.0 1 @& QJ65 & 832 4HW-1 50 55 9
v AJ842 v T76 v AQ542 I v T86 3DXS3 -670 0.0 1
¢ KT3 + 642 ¢ A72
» 85 * J942 % QT84 » AKJ5
¢ VAN 4J87 oIVAN
N 44~44 93 Opp #: N ~3~~~ »K3 Obp #:
S 44 ~44 ¢AQJ87 S ~ 3~~~ ¢KJ4
E ~~~~~ % AKT6 E 3~321 &3
~~~~~ 4~321
#6 & K782 Rd 0 (EW) 3NN-1 50 155 2 @# 13 & KT65 Rd 0 (NS) 3DXE-4 1100 15.5 1
v KQ 3NS4 -430 3Cs4 -130 140 1 v AQ432 4HN-1 -100 3CXE-4 1100 155 1
¢ 17 MP: 5.5 3NN3 -400 125 2 MP: 6 3NS4 630 14.0 1
» KJ974 4SN4 -420 110 1 3CXE-2 500 13.0 1
& 7643 & A95 3NN4 -430 5.5 7 s Q8432 3HN3 140 115 1
v T852 — v AJ3 3NS4 <430 55 3 @v JT96 2HN3 140 115 1
+ Q93 + 54 1CXE-2 -500 0.0 1 e T8 4HN-1 100 6.0 7
» 32 % QT865 % 98 3NN-1 -100 6.0 1
*OVAN o FOVAN A7 3HN-1 -100 6.0 1
N ~4 ~~2 99764 Obp #: N ~~3~2 vK8 Oop #: 4HXN-1  -200 05 1
S ~4 ~~2 ¢AKJ862 S ~~3~2 ¢Q953 4HN-2 200 05 1
E ~~~~~ - E ~~~~~ # J654
#7 Rd 0 (NS) 6SW-2 200 15.0 3 g# 14 « KQT97 Rd 0 (EW) 3NS-1 50 155 1
4HW-1 100 6HW-1 100 12.0 1 v KQJ3 3NS3 -400 4HN-1 50 155 1
MP: 12 5SW-1 100 120 1 + Q86 MP: 10.5 2NS3 -150 14.0 1
4HW-1 100 120 1 aT 2SN5 -200 13.0 1
» KQ762 4 J83 3sw4 -170 100 1 Wa J2 & A865 3NS3 -400 105 4
v QU982 v AK5 4SW4 -620 7.0 4 @ A8762 v9 4SN4 -420 8.0 1
. ¢ AJ543 4HW4 620 7.0 1 Qe J42 ¢ T753 3NS4 430 7.0 1
* % Q4 4SW5 -650 3.5 2 W& J86 » KQ93 3NS5 -460 3.5 6
ROIVAN LA 3NE5 -660 2.0 1 FOVAN 4 3NXS5 -750 0.0 1
N ~~~~~ Obp #: 5SW6 680 1.0 1 @N ~~332 v T54 Oop #:
S ~~~~~ 4DXS-4 -1100 00 1 @S ~~332 ¢AK9
E E ~~~~~ % A7542

EYR=RE I N=]



. Rd 0 (NS 3NW-2 100 16.0 1
v K42 4HE4 -420 3NW3 -400 145 1
¢ J732 MP: 9.5 3NE3 -400 145 1
& T53 4HW4 -420 9.5 1
a4 4HE4 420 95 7
v JT983 3NW4 -430 45 1
¢ ATS 3NE4 -430 45 1
& AQ92 4HE5 -450 15 4
SN o KJIT83
1~ w76 Obp #
1~ ¢Q98
~ 2 & K87
~2
# 16 673 Rd 0 (EW) 3SE-2 -200 15.0 1
v Q43 4HS6 -480 4SE-2 -200 15.0 2
¢ A982 MP: 8 4SE-3 -300 13.0 1
& AJT9 4HS5 -450 12.0 1
& QT952 » AJB64 4HS6 -480 8.0 7
v 75 — v KT 4HS7 510 3.0 3
+ T653 + QJ4 4SXE-3 -800 05 2
& K3 & 876
FPIVAN ,K
N 6 ~6 ~2 »AJ9862 Opp #:
S 6~6~2 K7
E ~~~~~ & Q542
# 17 & Q5 Rd0 (EW) 25w4 170 16.0 1
v AQ862 2SW4 170 3HN-3 150 15.0 1
¢ J98 MP: 16 2SW3 140 125 3
& J62 3SW3 140 125 1
& JT9872 & K3 28W2 110 95 2
v KJ7 v 95 4HN-2 100 8.0 1
* K ¢ 76542 3HN-1 50 6.0 3
& A87 & KQT3 2SW-1 -50 25 1
o eVABN 4A64 3SW-1 -50 25 2
N ~22~1 #T43 Opp #: 4SW-1 -50 25 1
S ~22~1 ¢AQT3 3HN3 -140 0.0 1
E ~~~3~ 954
~ o~ o~ 3 ~

FHe8H FL68H




